




Note to the Reader

T+,- .B001 2,-c4--.- 5+. F.2.78l R.-.7v. S<-5.= 8>2 ,5- .?.c5- 0> 5+.
U.S. .c0>0=<. F07 5+. -81. 0B -,=pl,c,5< ,5 20.- >05 2.-c7,D. 5+. 5.c+>,c8l 8--
p.c5- 0B 5+. F.2, ,>cl42,>g 5+. p7.c,-. =8>>.7 ,> w+,c+ 5+. F.2 ,>c7.8-.- 5+.
=0>.< -4ppl<. H.>c. 5+. 7.82.7 w,ll >05 .>c04>5.7 7.B.7.>c. ,> 5+.-. p8g-
.- 50 0p.>-=871.5 0p.785,0>-, 5+. B.2.78l-B4>2- 785., 07 05+.7 5.7=- 0B 5+85
1,>2. F07 5+.-. =.c+8>,c8l q4.-5,0>- 5+. 7.82.7 ,- 7.B.77.2 50 The Mystery of
Banking 07 The Case Against the Fed, D05+ D< M4778< N. R05+D872.





A- 7.c.>5l< 8- 2006, 5+. F.2.78l R.-.7v. S<-5.= (07 5+. “F.2”) w8- .x8c5-
l< w+.7. ,5 p7.B.7- 50 D.: q4,.5l< .>g8g.2 ,> ,5- p0l,c< 2.c,-,0>- 7.g872,>g

,>5.7.-5 785.- 8>2 =0>.< c7.85,0>, 8>2 0? 5+. 58Dl. B07 p0l,5,c8l 2,-c4--,0>.
M0-5 A=.7,c8>- +82 >0 ,2.8 w+85 ,5 2,2 07 .v.> w+85 ,5 w8-, 8>2 p0l,5,c,8>-
>.v.7 -8,2 8 w072 8D045 ,5. A><0>. w+0 2,2 =.>5,0> ,5 w8- p70D8Dl< 8 c78>1,
w+0 7.8ll< 04g+5 50 +8v. =07. c0>V2.>c. ,> 5+. w,-. =8>8g.=.>5 0B 5+. .x-
p.75-.

M0-5 A=.7,c8>- -5,ll +8v. >0 ,2.8 w+85 5+. F.2 ,-, D45 p0p4l87 8w87.-
>.-- 0B, 8>2 0pp0-,5,0> 50, 5+. F.2 ,- >0w 85 ,5- +,g+.-5 l.v.l ,> A=.7,c8>
+,-507<. T+8>1- 50 5+. V>8>c,8l c7,-,-, 5+. w071 0B R0> P84l, 8>2 5+. 8D,l,5< 0B
5+. I>5.7>.5 50 c,7c4=v.>5 5+. g85.1..p.7- 0B 8pp70v.2 0p,>,0>, 8 -=8ll D45
2.5.7=,>.2 8>5,-F.2 c0>-5,54.>c< +8- 2.v.l0p.2 8=0>g p.0pl. w+0 4>2.7-
-58>2 5+85 5+. F.2, -4pp0-.2l< 5+. -047c. 0B .c0>0=,c -58D,l,5<, ,- g,v,>g 4-
,>-58D,l,5<. T+,- 8ll.g.2 g4872,8> 0B 5+. 20ll87 +8- 8c548ll< D..> l0w.7,>g 5+.
20ll87’- v8l4.. A>2 5+,- ,>-5,545,0>, -4pp0-.2l< 8 g7.85 D4lw871 0B c8p,58l,-=,
,- ,> B8c5 8 c.>578l-pl8>>,>g 8g.>c< 85 022- w,5+ 5+. D8-,c p7,>c,pl.- 0B 8 B7..
=871.5.

C0==.>58507- w,5+ +,g+ =.2,8 p70Vl.- +8v. +.lp.2 50 p047 B4.l 0>
5+,- g70w,>g 8>5,-F.2 V7.. P.5.7 Sc+,?, D.-5-.ll,>g 845+07 8>2 p7.-,2.>5 0B
E470 P8c,Vc C8p,58l, =8< D. 5+. D.-5 1>0w> 0B 5+.-.. Sc+,? B07.50l2 5+. c7,-,-,
,>cl42,>g 5+. D8>174p5c< 0B F8>>,. M8. 8>2 F7.22,. M8c. H,- D001- Crash
Proof, The Little Book of Bull Moves in Bear Markets, 8>2How an Econo-
my Grows and Why It Crashes, 8ll 0B w+,c+ +8v. -0l2 w.ll, 581. 8> A4-57,8>
8pp708c+ 50 5.> <.87-. J,= R0g.7-, B04>2.7 0B 5+. R0g.7- I>5.7>85,0>8l C0=-
=02,5< I>2.x 8>2 c0-B04>2.7 0B 5+. Q48>54= F4>2 ,> 1970 – w+,c+ -8w ,5-
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p075B0l,0 g8,> 4,200 p.7c.>5 0v.7 5+. B0ll0w,>g 5.> <.87- – ,- 8>05+.7 -4c+
c7,5,c. T+.7. 87. =8>< 05+.7-.

T+. F.2.78l R.-.7v. S<-5.=, 5+. A=.7,c8> c.>578l D8>1, .>h0<- 8 g0v-
.7>=.>5-g78>5.2 =0>0p0l< 0> 5+. c7.85,0> 0B l.g8l-5.>2.7 =0>.<. I5 +8-
D..> g,v.> 5+. 58-1 0B =8>,p4l85,>g 5+. =0>.< -4ppl< ,> -4c+ 8 w8< 8- 50
=8x,=,z. .=pl0<=.>5 8>2 045p45 8>2 =,>,=,z. p7,c. ,>j85,0>. I5 ,- 2.-
-,g>.2 50 g,v. 5+. U>,5.2 S585.- 8 “j.x,Dl.” c477.>c<, w+,c+ ,> p78c5,c. =.8>-
8 c477.>c< 5+85 c8> D. ,>j85.2 ,> 072.7 50 -4,5 5+. >..2- 0B g0v.7>=.>5 8>2
V>8>c,8l ,>-5,545,0>-. F.2 c+8,7=.> +8v. D08-5.2 0B 5+.,7 ,>-5,545,0>’- 8D,l,5<
50 B07.-.. 8>2 p7.v.>5 .c0>0=,c c7,-.-, 8>2 50 =,5,g85. 5+0-. 5+85 20 0cc47.
F07 8 l0>g 5,=., p.0pl. 8cc.p5.2 cl8,=- l,1. 5+.-..

T+.-. 28<-, =07. 8>2 =07. p.0pl. 87. l.-- 8>2 l.-- -47. 8D045 5+.=.

S,>c. 5+. F.2 0p.>.2 ,5- 2007- ,> 1914 B0ll0w,>g 5+. p8--8g. 0B 5+. F.2-
.78l R.-.7v. Ac5 ,> D.c.=D.7 1913, 5+. 20ll87 +8- l0-5 =07. 5+8> 95 p.7c.>5
0B ,5- v8l4., 8B5.7 +8v,>g +.l2 ,5- v8l4. ,>58c5 B70= 5+. D.g,>>,>g 0B 5+. 7.p4D-
l,c 4>5,l 5+. c7.85,0> 0B 5+. F.2. M0-5 0B 5+,- 2.D8-.=.>5 0B 5+. 20ll87 +8- 581-
.> pl8c. -,>c. 1971, w+.> 5+. l8-5 v.-5,g.- 0B 5+. g0l2 -58>2872 w.7. 7.=0v.2
8>2 5+. c.>578l D8>1 c04l2 ,>j85. 5+. =0>.< -4ppl< w,5+ =4c+ g7.85.7 8D8>-
20>.

W+.> p.0pl. 78,-. q4.-5,0>- 8D045 5+. 45,l,5< 0B 5+. F.2, 5+.< 87. 4-4-
8ll< l.c547.2 8D045 +0w v0l85,l. 5+. .c0>0=< 4-.2 50 D. 8>2 +0w =4c+ D.55.7
,5 ,- >0w, 5+8>1- 50 5+. w,-. 0v.7-,g+5 0B 047 c.>578l D8>1. B45 7.c.>5 7.-.87c+
+8- 5+70w> c0l2 w85.7 0> 5+,- cl8,=. C+7,-5,>8 R0=.7 V>2- 5+85 5+. >4=-
D.7- 8>2 285,>g 4-.2 D< 5+. N85,0>8l B47.84 0B Ec0>0=,c R.-.87c+ (NBER,
5+. l87g.-5 .c0>0=,c- 7.-.87c+ 07g8>,z85,0> ,> 5+. U>,5.2 S585.-, B04>2.2
,> 1920) .x8gg.785. D05+ 5+. >4=D.7 8>2 5+. l.>g5+ 0B .c0>0=,c 20w>547>-
p7,07 50 5+. c7.85,0> 0B 5+. F.2. I> -0 20,>g, 5+. NBER l,1.w,-. 0v.7.-5,-
=85.- 5+. F.2’- c0>57,D45,0> 50 .c0>0=,c -58D,l,5<. R.c.--,0>- w.7. ,> B8c5
>05 =07. B7.q4.>5 ,> 5+. p7.-F.2 5+8> 5+. p0-5-F.2 p.7,02.1 (R0=.7 c+8,7.2
5+. C04>c,l 0B Ec0>0=,c A2v,-.7- 4>2.7 B878c1 OD8=8, -0 -+. ,->’5 .x8c5l< 8
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B7..-=871.5 ,2.0l0g4..)

B45 l.5’- D. 7.8l -p075- 8D045 ,5, 8>2 c0=p87. 0>l< 5+. p0-5-W07l2 W87
II p.7,02 50 5+. p7.-F.2 p.7,02, 5+.7.D< .xcl42,>g 5+. G7.85 D.p7.--,0> B70=
5+. F.2’- 7.c072. (T+. G7.85 D.p7.--,0>, w. 8ll 1>0w, w8- h4-5 p78c5,c.!)2 I>
5+85 c8-., w. 20 V>2 .c0>0=,c c0>578c5,0>- 50 D. -0=.w+85 =07. B7.q4.>5
,> 5+. p.7,02 D.B07. 5+. F.2, D45 8- .c0>0=,-5 G.07g. S.lg,> .xpl8,>-, “T+.<
w.7. 8l-0 8l=0-5 5+7.. =0>5+- -+075.7 0> 8v.78g., 8>2 >0 =07. -.v.7..”3

R.c0v.7,.- w.7. 8l-0 B8-5.7 ,> 5+. p7.-F.2 p.7,02, w,5+ 5+. 8v.78g. 5,=. p.81
50 D0550= 581,>g 0>l< 7.7 =0>5+- 8- 0pp0-.2 50 5+. 10.6 =0>5+- 0B 5+. p0-5-
W07l2 W87 II p.7,02. Ex5.>2,>g 047 p7.-F.2 p.7,02 50 ,>cl42. 1796 50 1915,
.c0>0=,-5 J0-.p+ D8v,- V>2- no appreciable di,erence between the length
and duration of recessions as compared to the period of the Fed.4

B45 p.7+8p- 5+. F.2 +8- +.lp.2 50 -58D,l,z. 7.8l 045p45 (5+. 5058l
8=04>5 0B g002- 8>2 -.7v,c.- 8> .c0>0=< p7024c.- ,> 8 g,v.> p.7,02 0B 5,=.,
82h4-5.2 50 7.=0v. 5+. .?.c5- 0B ,>j85,0>), 5+.7.D< 2.c7.8-,>g .c0>0=,c v0l-
85,l,5<. N05 -0. S0=. 7.c.>5 7.-.87c+ V>2- 5+. 5w0 p.7,02- (p7.- 8>2 p0-5-F.2)
50 D. 8pp70x,=85.l< .q48l ,> v0l85,l,5<, 8>2 -0=. V>2- 5+. p0-5-F.2 p.7,02 ,>
B8c5 50 D. =07. v0l85,l., 0>c. B84l5< 2858 87. c077.c5.2 B07. T+. 4p- 8>2 20w>-
,> 045p45 5+85 2,2 .x,-5 D.B07. 5+. c7.85,0> 0B 5+. F.2 w.7. >05 8557,D458Dl. 50
5+. l8c1 0B 8 c.>578l D8>1. O45p45 v0l85,l,5< D.B07. 5+. F.2 w8- c84-.2 8l=0-5
.>5,7.l< D< -4ppl< -+0c1- 5+85 5.>2 50 8?.c5 8> 8g7,c4l5478l -0c,.5< (+87v.-5
B8,l47.- 8>2 -4c+), w+,l. 045p45 v0l85,l,5< 8B5.7 5+. F.2 ,- 50 8 =4c+ g7.85.7
.x5.>5 5+. B84l5 0B 5+. =0>.587< -<-5.=.5

W+.> w. l001 D8c1 85 5+. >,>.5..>5+ c.>547<, w. 2,-c0v.7 5+85 5+.
=0>.587< 8>2 D8>1,>g ,>-58D,l,5< 5+85 .x,-5.2 5+.> w.7. >05 c84-.2 D< 5+.
8D-.>c. 0B 8 g0v.7>=.>5-.-58Dl,-+.2 8g.>c< ,--4,>g 4>D8c1.2 p8p.7 =0>.<.
Acc072,>g 50 R,c+872 T,=D.7l81., 8 w.ll-1>0w> .c0>0=,-5 8>2 +,-507,8> 0B
A=.7,c8> =0>.587< 8>2 D8>1,>g +,-507<, “A- =0>.587< +,-507,.- c0>V7=...
=0-5 0B 5+. =0>.587< 547D4l.>c. — D8>1 p8>,c- 8>2 -4-p.>-,0>- ,> 5+. >,>.-
5..>5+ c.>547< — 7.-4l5.2 B70= .xc.--,v. ,--4.- 0B l.g8l-5.>2.7 p8p.7 =0>.<,
8>2 5+.< w.7. 8D85.2 D< 5+. w071,>g g0l2 -58>2872- 0B 5+. 5,=.-.”6 I> 8 >45-
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-+.ll, w. 87. B8c.2 0>c. 8g8,> w,5+ 5+. B84l5- 0B ,>5.7v.>5,0>,-= D.,>g Dl8=.2
0> 5+. B7.. =871.5. H.7. w.’ll l001 85 h4-5 5w0 ,ll4-5785,v. .x8=pl.-.

T+. P8>,c 0B 1819 w8- 5+. 7.-4l5 0B <.87- 0B 875,Vc,8l c7.2,5 c7.85,0> D<
5+. D8>1-, ,>cl42,>g 5+. >.wl< c+875.7.2 S.c0>2 B8>1 0B 5+. U>,5.2 S585.-,
.-58Dl,-+.2 ,> 1817.7 T+85 ,- 50 -8<, 5+. D8>1- ,--4.2 B87 =07. p8p.7 =0>.<
5+8> 5+.< +82 g0l2 50 D8c1 ,5 ,> 5+.,7 v84l5-. A- 0B5.> +8pp.>- w+.> 5+. c04>-
57< ,- j002.2 w,5+ =0>.< c7.85.2 045 0B 5+,> 8,7, -p.c4l85,0> 0B 8ll 1,>2- g7.w
,>5.>-., 8- .<.w,5>.-- 5.-5,=0>< 8D4>28>5l< 7.c072-. T+. c04>57< w8- 0> 8
-4g87 +,g+, D8-.2 >05 0> 7.8l -8v,>g- D45 0> =.7. p8p.7.

D47,>g 5+. <.87- w+.> 5+. U>,5.2 S585.- +82 >0 c.>578l D8>1 (5+. p.7,-
02 B70= 1811, w+.> 5+. c+875.7 0B 5+. V7-5 B8>1 0B 5+. U>,5.2 S585.- .xp,7.2,
8>2 1817), g0v.7>=.>5 +82 g78>5.2 p7,v85. D8>1- 5+. p7,v,l.g. 0B .xp8>2-
,>g c7.2,5 w+,l. 7.B4-,>g 50 p8< 2.p0-,507- 2.=8>2,>g 5+.,7 B4>2-. I> 05+.7
w072-, w+.> p.0pl. c8=. 50 2.=8>2 5+.,7 =0>.< B70= 5+. D8>1-, 5+. D8>1-
w.7. 8ll0w.2 50 5.ll 5+.= 5+.< 2,2>’5 +8v. 5+. =0>.< 8>2 5+85 2.p0-,507-
w04l2 -,=pl< +8v. 50 w8,5 8 c04pl. <.87- – 8>2 85 5+. -8=. 5,=., 5+. D8>1
w8- 8ll0w.2 50 c0>5,>4. ,> 0p.785,0>. B< .87l< 1817 5+. M82,-0> 82=,>,-578-
5,0> V>8ll< 7.q4,7.2 5+. D8>1- 50 =..5 2.p0-,507 2.=8>2-, D45 85 5+. -8=.
5,=. c+875.7.2 5+. S.c0>2 B8>1 0B 5+. U>,5.2 S585.-, w+,c+ w04l2 ,5-.lB D.
,>j85,0>87<. T+. B8>1 -4D-.q4.>5l< p7.-,2.2 0v.7 8> ,>j85,0>87< D00=,
w+,c+ c8=. 50 g7,.B ,> 1819.8

T+. l.--0> 0B 5+85 -077< .p,-02. — >8=.l<, 5+85 5+. .c0>0=< g.5- 581.>
0> 8 w,l2 8>2 4>+.8l5+< 7,2. w+.> 5+. =0>.< -4ppl< ,- 278=85,c8ll< 8>2 87-
5,Vc,8ll< ,>c7.8-.2 8>2 5+.> -422.>l< 7.24c.2 — w8- -0 0Dv,04- 5+85 .v.> 5+.
p0l,5,c8l cl8-- =8>8g.2 50 Vg47. ,5 045. N4=.704- A=.7,c8> -585.-=.> w.7.
c0>V7=.2 ,> 5+.,7 +872-=0>.< v,.w- D< 5+. P8>,c. T+0=8- J.?.7-0> 8-1.2 8
B7,.>2 ,> 5+. V,7g,>,8 l.g,-l8547. 50 ,>57024c. +,- “Pl8> B07 R.24c,>g 5+. C,7-
c4l85,>g M.2,4=,” w+,c+ 5+. S8g. 0B M0>5,c.ll0 +82 278w> 4p ,> 7.-p0>-. 50
5+. P8>,c. T+. pl8> -04g+5 50 w,5+278w 8ll p8p.7 =0>.< ,> .xc.-- 0B -p.c,.
0v.7 8 Vv.-<.87 p.7,02, 5+.> 7.2..= 5+. 7.-5 ,> -p.c,. 8>2 +8v. p7.c,04--=.5-
8l c0,>- c,7c4l85. .xcl4-,v.l< B70= 5+85 =0=.>5 0>. J.?.7-0> 8>2 J0+> A2-
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8=- w.7. .-p.c,8ll< B0>2 0B D.-5455 2. T78c<’- +872-=0>.< Treatise on the
Will (1815), w,5+ A28=- c8ll,>g ,5 5+. D.-5 D001 0> .c0>0=,c- .v.7 w7,55.> (,5-
c+8p5.7 0> =0>.<, -8,2 A28=-, 2.B.>2- “5+. -.>5,=.>5- 5+85 I +8v. .>5.7-
58,>.2 8ll =< l,B.5,=.”) 8>2 J.?.7-0> w7,5,>g 5+. p7.B8c. 50 5+. E>gl,-+-l8>-
g48g. .2,5,0>.9

W+,l. 5+. P8>,c 0B 1819 c0>V7=.2 -0=. p0l,5,c8l Vg47.- ,> 5+.
+872-=0>.< v,.w- 5+.< 8l7.82< +.l2, ,5 8l-0 c0>v.75.2 05+.7- 50 5+85 p0-,5,0>.
C0>2< R8g4.5 +82 D..> 8> 045-p01.> ,>j85,0>,-5 4>5,l 1819. AB5.7 0D-.7v,>g
5+. 2,-5075,0>- 8>2 ,>-58D,l,5< c84-.2 D< p8p.7-=0>.< ,>j85,0>, +. p70=p5-
l< .=D78c.2 +872 =0>.<, 8>2 w.>5 0> 50 w7,5. A Treatise on Currency and
Banking (1839), 0>. 0B 5+. g7.85 =0>.< 8>2 D8>1,>g 57.85,-.- 0B 5+. >,>.-
5..>5+ c.>547<. D8v< C70c1.55, B4547. p7.-,2.>5 W,ll,8= H.>7< H877,-0>, 8>2
J0+> Q4,>c< A28=- (85 l.8-5 85 5+85 5,=.) w.7. l,1.w,-. 0pp0-.2 50 ,>j85,0>-
,-5 D8>1-; ,> c0>578-5 50 5+. ,>j85,0>87< S.c0>2 B8>1 0B 5+. U>,5.2 S585.-,
A28=- c,5.2 5+. +872-=0>.< B8>1 0B A=-5.728= 8- 8 =02.l 50 .=4l85..
D8>,.l R8<=0>2, 2,-c,pl. 0B Al.x8>2.7 H8=,l50> 8>2 845+07 0B 5+. V7-5 57.8-
5,-. 0> .c0>0=,c- p4Dl,-+.2 ,> A=.7,c8 (Thoughts on Political Economy,
1820), .xp7.--l< D701. w,5+ H8=,l50> ,> 82v0c85,>g 8 +872-=0>.<, 100 p.7-
c.>5 -p.c,.-D8c1.2 c477.>c<.10

F07 8 l0>g 5,=., 5+. P8>,c 0B 1873 w8- -8,2 50 +8v. ,>84g4785.2 5+. -0-
c8ll.2 L0>g D.p7.--,0>, w+,c+ l8-5.2 4>5,l 1879 ,> 5+. =07. -0D.7 8cc04>5-,
8>2 4>5,l 1896 ,> 5+. =07. 045l8>2,-+ 0>.-. H0w.v.7, 5+. =02.7> c0>-.>-4-
,- 5+85 5+.7. w8- ,> B8c5 >0 “L0>g D.p7.--,0>” 8B5.7 8ll. Ev.> 5+. New York
Times, w+,c+ 82=,5- >05+,>g, 82=,5- 5+,-:

R.c.>5 2.58,l.2 7.c0>-574c5,0>- 0B >,>.5..>5+-c.>547< 2858 D<
.c0>0=,c +,-507,8>- -+0w 5+85 5+.7. w8- >0 1870- 2.p7.--,0>:
8-,2. B70= 8 -+075 7.c.--,0> ,> 1873, ,> B8c5, 5+. 2.c82. -8w p0--,-
Dl< 5+. B8-5.-5 -4-58,>.2 g70w5+ ,> A=.7,c8> +,-507<. E=pl0<=.>5
g7.w -570>gl<, B8-5.7 5+8> 5+. 785. 0B ,==,g785,0>; c0>-4=p5,0>
0B B002 8>2 05+.7 g002- 70-. 8c70-- 5+. D0872. O> 8 p.7 c8p,58
D8-,-, 8l=0-5 8ll 045p45 =.8-47.- w.7. 4p -p.c58c4l87l<. B< 5+.
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.>2 0B 5+. 2.c82., p.0pl. w.7. D.55.7 +04-.2, D.55.7 cl05+.2 8>2
l,v.2 0> D,gg.7 B87=-. D.p875=.>5 -507.- w.7. p0pp,>g 4p .v.> ,>
=.2,4=--,z.2 c,5,.-. A=.7,c8 w8- 578>-B07=,>g ,>50 5+. w07l2’-
V7-5 =8-- c0>-4=.7 -0c,.5<.

F87=.7-, =07.0v.7, w+0 p8>,c1.2 85 B8ll,>g p7,c.- B07 8g7,c4l5478l
c0==02,5,.-, 85 V7-5 B8,l.2 50 >05. 5+85 05+.7 p7,c.- w.7. B8ll,>g -5,ll B8-5.7.
T+. 5.7=- 0B 5782. B07 A=.7,c8> B87=.7- ,=p70v.2 c0>-,2.78Dl< 247,>g 5+.
1870-.11

A- B07 +,-507,8>-, 5+.< -..= 50 +8v. D..> B00l.2 D< 5+. -585,-5,c- 0>
c0>-4=.7 p7,c.-, w+,c+ B.ll 8> 8v.78g. 0B 3.8 p.7c.>5 p.7 <.87. A>2 -,>c. 5+.
c0>v.>5,0>8l w,-20= -8<- 5+85 c0>-,-5.>5l< B8ll,>g p7,c.- w,ll c84-. 5+. .875+
50 D7.81 B7.. 0B ,5- 8x,- 8>2 g0 54=Dl,>g 50w872 5+. -4>, 5+.< c0>cl42.2 5+85
5+,- =4-5 +8v. D..> 8 5,=. 0B 5.77,Dl. 2.p7.--,0>. W,5+ 5+. g0l2 -58>2872
7.-507.2 ,> 1879 8B5.7 D.,>g 8D8>20>.2 247,>g 5+. C,v,l W87, 5+. 1880- w.7.
l,1.w,-. 8 p.7,02 0B g7.85 p70-p.7,5<, w,5+ 7.8l w8g.- 7,-,>g D< 20 p.7c.>5.

T+. 87g4=.>5 5+85 5+. U.S. .c0>0=< w8- -4-c.p5,Dl. 50 p8>,c- w,5+045
5+. w,-. c4-502,8>-+,p 0B 8 c.>578l D8>1 c8> 8l-0 D. 2,-=8>5l.2 8>05+.7 w8<.
I> 5+. >,>.5..>5+ c.>547<, >.87l< 8ll A=.7,c8> -585.- ,>-5,545.2 8 7.g4l85,0>
1>0w> 8- 4>,5 D8>1,>g, w+,c+ l,=,5.2 8ll D8>1- 50 8 -,>gl. 0fc.. N0 D78>c+
D8>1,>g w8- 8ll0w.2, w+.5+.7 ,>578-585. 07 ,>5.7-585.. T+. 0Dv,04- 7.-4l5
w8- 8 v.7< B78g,l. 8>2 4>2,v.7-,V.2 D8>1,>g -<-5.= ,> w+,c+ D8>1- c04l2 D.
D704g+5 50 74,> ,B l0c8l c0>2,5,0>- 547>.2 -047.

T+. D8>1,>g p8>,c- 5+85 -574c1 5+. U>,5.2 S585.- D.5w..> 5+. C,v,l W87
8>2 W07l2 W87 I 0cc477.2 .,5+.7 247,>g 5+. -p7,>g pl8>5,>g -.8-0> 07 5+. B8ll
+87v.-5, 8>2 w.7. cl0-.l< c0>>.c5.2 50 5+. c<cl. 0B c0550> p7024c5,0>. T+85 ,-
>0 c0,>c,2.>c.. T+0-. 87. 5+. 5,=.- w+.> D8>1 l.>2,>g (8>2 l.v.78g.) ,- 85 ,5-
p.81, 8>2 5+4- 5+. D8>1- 87. =0-5 v4l>.78Dl. 50 -+,B5- ,> 2.p0-,507 c0>V2.>c.
8>2 5+. l,1.l,+002 0B w,5+278w8l- D< 7,-1-8v.7-. 2.p0-,507-.12 I> 05+.7 w072-,
w,5+ D8>1 c8p,58l c0>-58>5 D45 5+. 8=04>5 0B l08>- ,>c7.8-,>g, D8>1 l.v.78g.
D< 2.V>,5,0> g70w-, 8>2 5+0-. 2.p0-,507- =0-5 c0>c.7>.2 8D045 5+. 7,-1,>.--
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0B 5+.,7 D8>1’- 8c5,v,5,.- 87. 85 5+85 =0=.>5 =0-5 l,1.l< 50 581. 5+.,7 =0>-
.< 045, 5+.7.D< =81,>g 5+. D8>1’- c0>2,5,0> =07. B78g,l.. T+. F.2 -4ppl,.2
D8>1- w,5+ 8 -047c. 0B l,q4,2,5< 247,>g =0=.>5- 0B 5.=p0787< D45 ,>5.>-.
2.p0-,507 p7.--47. l,1. 5+.-..

S0 ,- 5+. F.2 5+.7.B07. 5+. g7.85 -8v,07? O>l< ,B w. B07g.5 5w0 5+,>g-.
F,7-5, 05+.7 c04>57,.-, w+,c+ +82 >05 c7,ppl.2 5+.,7 D8>1,>g -<-5.=- w,5+ 4>,5
D8>1,>g l8w-, +82 D..> -8B. B70= 5+.-. p8>,c- 8ll 8l0>g. C8>828, w+,c+ +82
B78c5,0>8l-7.-.7v. D8>1,>g l,1. 5+. U>,5.2 S585.- D45 >0 4>,5 D8>1,>g l8w-,
8v0,2.2 8ll 5+. V>8>c,8l 547=0,l 0B A=.7,c8> D8>1 p8>,c-, 8>2 w,5+045 5+.
+.lp 0B 8 c.>578l D8>1 — 5+. B8>1 0B C8>828 w8- >05 .-58Dl,-+.2 4>5,l 1934.
A- M,l50> F7,.2=8> w8- B0>2 0B p0,>5,>g 045, 8l5+04g+ 5+. G7.85 D.p7.--,0>
cl8,=.2 0v.7 9,000 A=.7,c8> D8>1-, 5+. >4=D.7 0B D8>1- 5+85 B8,l.2 ,> C8>-
828 85 5+85 5,=. w8- zero. A=.7,c8> D8>1 p8>,c-, ,5 547>- 045, w.7. ,> l87g.
p875 5+. 7.-4l5 0B g0v.7>=.>5 ,>5.7v.>5,0> — ,> 5+. B07= 0B 4>,5 D8>1,>g — ,>
5+. V7-5 pl8c..

I=8g,>. 5+85: l.-- 7.g4l85,0>, =07. -58D,l,5<.

S.c0>2, ,5 ,- D< >0 =.8>- cl.87 5+85 5+. F.2 w8- p875,c4l87l< -4cc.--B4l
,> -50pp,>g D8>1 p8>,c-, 8 p+.>0=.>0> 5+85 c8=. 50 8> .>2 0>l< w,5+ 5+. 82-
v.>5 0B 2.p0-,5 ,>-478>c. ,> 1934. A>27.w J8l,l 0B 5+. U>,v.7-,5< 0B C8l,B07>,8,
B.71.l.<, c0>cl42.2 ,> 8 2009 -542< 5+85 “c0>5787< 50 5+. c0>v.>5,0>8l w,--
20=, 5+.7. ,- >0 .v,2.>c. 0B 8 2.cl,>. ,> 5+. B7.q4.>c< 0B p8>,c- 247,>g 5+.
V7-5 VB5..> <.87- 0B 5+. .x,-5.>c. 0B 5+. F.2.78l R.-.7v..”13 El=4- W,c1.7, ,>
Banking Panics of the Gilded Age (2000), 0D-.7v.- 5+85 “5+.7. w.7. >0 =07.
5+8> 5+7.. =8h07 D8>1,>g p8>,c- D.5w..> 1873 8>2 1907 [,>cl4-,v.], 8>2 5w0
,>c,p,.>5 D8>1,>g p8>,c- ,> 1884 8>2 1890. Tw.lv. <.87- .l8p-.2 D.5w..>
5+. p8>,c 0B 1861 8>2 5+. p8>,c 0B 1873, 5w.>5< <.87- D.5w..> 5+. p8>,c- 0B
1873 8>2 1893, 8>2 B0475..> <.87- D.5w..> 1893 8>2 1907: 5+7.. D8>1,>g
p8>,c- ,> +8lB 8 c.>547<! A>2 ,> 0>l< 0>. 0B 5+. 5+7.., 1893, 2,2 5+. >4=D.7
0B D8>1 -4-p.>-,0>- =85c+ 5+0-. 0B 5+. G7.85 D.p7.--,0>.” B< c0>578-5, 5+.7.
w.7. Vv. -.p8785. D8>1 p8>,c- ,> 5+. V7-5 5+7.. <.87- 0B 5+. G7.85 D.p7.--,0>
8l0>..14
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Ev.> 247,>g 5+.-. p7.-F.2 p8>,c- 5+. D8>1 B8,l47. 785. w8- -=8ll, 8-
w.7. 5+. l0--.- 2.p0-,507- -4?.7.2. D.p0-,507 l0--.- 8=04>5.2 50 0>l< 0.1
p.7c.>5 0B GDP 247,>g 5+. P8>,c 0B 1893, w+,c+ w8- 5+. w07-5 0B 5+.= 8ll
w,5+ 7.-p.c5 50 D8>1 B8,l47.- 8>2 2.p0-,507 l0--.-. B< c0>578-5, ,> h4-5 5+. p8-5
5+,75< <.87- 0B 5+. c.>578l D8>1 .78, 5+. w07l2 +8- -..> 5w.>5< D8>1,>g c7,-.-
5+85 l.2 50 2.p0-,507 l0--.- ,> .xc.-- 0B 10 p.7c.>5 0B GDP. H8lB 0B 5+0-. -8w
l0--.- ,> .xc.-- 0B 20 p.7c.>5 0B GDP.15

C0>5787< 50 p0p4l87 D.l,.B, 5+. 8g. 0B c.>578l D8>1,>g +8- >05 ,> B8c5
g,v.> 4- 8 w07l2 w,5+ B.w.7 D8>1,>g c7,-.-, ,B w. 2.V>. 8 c7,-,- 8- 8 w8v. 0B
D8>1 B8,l47.- 8--0c,85.2 w,5+ l87g. l0--.-. B.5w..> 1874 8>2 1913, w. c04>5
B047 -4c+ c7,-.-: A7g.>5,>8 (1890), A4-578l,8 (1893), I58l< (1893), 8>2 N07w8<
(1900). (I>5.7.-5,>gl< .>04g+, .8c+ 0B 5+.-. c04>57,.- .xp.7,.>c.2 8 D00=
8>2 D4-5 ,> 7.8l .-585., w+,c+ +82 D..> -4D-,2,z.2 D< 5+.-. g0v.7>=.>5- ,>
w8<- =.8>5 50 .v82. =871.5 2,-c,pl,>..) B.5w..> 1978 8>2 2008, 0> 5+. 05+-
.7 +8>2, 5+.7. w.7. 140 D8>1,>g c7,-.-, 5w.>5< 0B w+,c+ w.7. w07-. 5+8> 5+.
5w0 w07-5 (A7g.>5,>8 8>2 A4-578l,8) B70= 5+. .87l,.7 p.7,02.16

J4-5 8- ,=p0758>5 8- 7.v,-,>g 5+. +,-507< 0B 5+. F.2 ,> l,g+5 0B -04>2.7
2858 8>2 7.-.87c+ ,- ,>c7.8-.2 -c745,>< 0B w+85 5+. F.2 ,- 20,>g ,> 5+. p7.--
.>5. T+. F.2.78l R.-.7v. +8- D..> c7,5,c,z.2 B07 D7,>g,>g 8D045 .v.7-+,g+.7
p7,c.-, B07 ,>-58>c.. (I>j85,0> ,- 5+. ,>c7.8-. ,> 5+. -4ppl< 0B =0>.<; +,g+.7
p7,c.-, w+,c+ 87. 5+.=-.lv.- -0=.5,=.- c8ll.2 ,>j85,0>, 87. =.7.l< 5+. .?.c5-
0B ,>j85,0>.) A> 875,Vc,8l ,>c7.8-. ,> 5+. -4ppl< 0B =0>.< 5.>2- 50 p4-+ p7,c.-
+,g+.7 5+8> 5+.< w04l2 +8v. =0v.2 05+.7w,-.. W+.> w. 7.82 c7,5,c,-=- 0B
,>j85,0>, 5+.<’7. 4-48ll< c0>V>.2 50 5+. p70Dl.=- B8c.2 D< p.0pl. 0> Vx.2
,>c0=.- w+.> p7,c.- 7,-.. IB -0=.0>.’- ,>c0=. c0>-,-5- 0B 8> ,>v87,8Dl. 0>.
5+04-8>2 20ll87- p.7 =0>5+, B07 .x8=pl., 8>2 5+. p7,c.- 0B 5+. g002- +. D4<-
204Dl., 5+. p47c+8-,>g p0w.7 0B +,- ,>c0=. ,- c45 ,> +8lB.

B45 5+. p70Dl.=- 0B ,>j85,0> g0 =4c+ 2..p.7 5+8> 5+,-. F07 0>. 5+,>g,
,>j85,0> +8- 4>h4-5 7.2,-57,D45,0> (07 C8>5,ll0>) .?.c5-. T+. p70c.-- w+.7.D<
g0v.7>=.>5 07 ,5- p7,v,l.g.2 c.>578l D8>1 c7.85.- =0>.< ,>.v,58Dl< .>7,c+.-
p0l,5,c8ll< w.ll-c0>>.c5.2 g704p- 85 5+. .xp.>-. 0B .v.7<0>. .l-.. W+.> 5+.
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F.2 c7.85.- >.w =0>.< 045 0B 5+,> 8,7, 5+85 >.w =0>.< ,- >05 2,-57,D45.2 ,>
.q48l p70p075,0>- 50 8ll A=.7,c8>-. A +.l,c0p5.7 20.- >05 j< 0v.7 5+. c04>57<,
.v.>l< 2,-57,D45,>g 5+. >.w =0>.< 8=0>g 5+. p.0pl.. T0 5+. c0>5787<, 5+.
>.w =0>.< .>5.7- 5+. .c0>0=< 85 2,-c7.5. p0,>5-. W+0.v.7 7.c.,v.- ,5 V7-5
g.5- 50 -p.>2 ,5 D.B07. ,5 +8- c,7c4l85.2 5+704g+045 5+. .c0>0=< 8>2 78,-.2
p7,c.-. T+. w,>2B8ll 5+. p7,v,l.g.2 .>h0< c0=.- 85 5+. 2,7.c5 .xp.>-. 0B 8v.7-
8g. p.0pl., w+0 l8c1 5+. p0l,5,c8l c0>>.c5,0>- 50 D. 8=0>g 5+. V7-5 ,> l,>. 50
7.c.,v. 5+. >.wl< c7.85.2 =0>.<. T+0-. p.0pl. p8< 5+. +,g+.7 p7,c.- 5+85 5+.
>.w =0>.< D7,>g- 8D045 D.B07. 5+85 >.w =0>.< 7.8c+.- 5+.=. A>2 w+0 g.5-
5+. >.w =0>.< V7-5? B8>1-, D4-,>.--.- w,5+ g0v.7>=.>5 c0>578c5-, ,>v.-5-
=.>5 D8>1- 5+85 -.ll g0v.7>=.>5 D0>2- 50 5+. F.2.78l R.-.7v., 8>2 5+. l,1..
T+. 7.82.7 w,ll 2.5.c5 8 p855.7> +.7..

All 1>0w> c8-.- 0B +<p.7,>j85,0>, w+,c+ ,- -0=.5,=.- 2.V>.2 8- 8 50
p.7c.>5 07 +,g+.7 7,-. ,> 5+. p7,c. l.v.l p.7 =0>5+, +8v. 0cc477.2 4>2.7 8 -<--
5.= 0B p8p.7 =0>.<. T+. 2.v8-585,>g c0>-.q4.>c.- 0B +<p.7,>j85,0> 87. >05
h4-5 .c0>0=,c, 8- 5+. B74g8l 8>2 p70v,2.>5 w85c+ 5+. v8l4. 0B 5+.,7 -8v,>g-
v8>,-+ ,>50 5+,> 8,7. I5- c0>-.q4.>c.- 87. -0c,8l, p0l,5,c8l, c4l5478l, 8>2 .v.>
-p,7,548l. I>j85,0> 85 8>< l.v.l +8- 5+.-. 1,>2- 0B .?.c5-. S8v,>g 8>2 5+7,B5
-..= l.-- 2.-,78Dl. w+.> =0>.< ,- g0,>g 50 l0-. v8l4. 0v.7 5,=.; ,5 =81.-
=07. -.>-. 50 -p.>2 7,g+5 >0w w+,l. ,5- v8l4. ,- 85 ,5- +.,g+5. Ol2-B8-+,0>.2
=078l 82v,c. 8D045 5+7,B5 8>2 p70v,-,0> B07 5+. B4547. -..=- -54p,2 8>2 D8c1-
w872 50 8> ,>j85,0>87< g.>.785,0>.

G0v.7>=.>5- 5+85 +0l2 8 =0>0p0l< 0> 5+. ,--48>c. 0B =0>.< +8v.
+82 8 D82 +8D,5 0B 2.D8-,>g 8>2 2.-570<,>g 5+85 =0>.<, 8 +8D,5 w+0-. ,ll
.?.c5- +8v. D..> 8ll 5+. g7.85.7 8- g0v.7>=.>5- +8v. =0v.2 8w8< B70= p7.-
c,04--=.58l =0>.< 8>2 ,>50 p8p.7 =0>.< w+0-. v8l4. 5+.< c8> =07. 7.82,l<
=8>,p4l85.. F70= 1066 50 5+. .87l< -.v.>5..>5+ c.>547<, 5+. E>gl,-+ -,lv.7
p04>2 w8- 2.D8-.2 D< 0>. 5+,72, B07 8 2.p7.c,85,0> B8c507 0B 0.3. Ov.7 5+.
>.x5 200 <.87-, w,5+ 5+. 7,-. 0B =02.7> D8>1,>g, 5+. -4ppl< ,>c7.8-.2 D< 8
B8c507 0B -,x5..>. I> h4-5 5+. 5+,75< <.87- B70= 1973 50 2003, 5+. U.S. =0>.<
-4ppl< (M1) ,>c7.8-.2 D< 8 B8c507 0B Vv.. N85478ll<, w,5+ 8 7.c072 l,1. 5+,-,
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p7,c.- +8v. j4c5485.2 c0>-,2.78Dl<, .-p.c,8ll< c0=p87.2 w,5+ 5+. 7.l85,v.
-58D,l,5< 0B p7,c.- 4>2.7 5+. g0l2 -58>2872 0B 5+. >,>.5..>5+ c.>547<. “A -542<
0B 8D045 30 c477.>c,.-,” w7,5.- Sw,-- .c0>0=,-5 P.5.7 B.7>+0lz, “-+0w- 5+85
5+.7. +8- >05 D..> 8 -,>gl. c8-. 0B 8 c477.>c< B7..l< =8>,p4l85.2 D< ,5- g0v-
.7>=.>5 07 c.>578l D8>1 -,>c. 1700 5+85 .>h0<.2 p7,c. -58D,l,5< B07 85 l.8-5 30
<.87- 74>>,>g.”17

T+. v.7< .x,-5.>c. 0B 8 =0>0p0l< p7024c.7 0B l.g8l-5.>2.7 p8p.7 =0>.<
B0-5.7- =078l +8z872. T+.7. ,- >0 p+<-,c8l l,=,585,0> 0> 5+. c7.85,0> 0B 822,-
5,0>8l p8p.7 =0>.<, 8- 5+.7. w04l2 D. 0> 5+. c7.85,0> 0B 822,5,0>8l g0l2. V,7-
548ll< >0 -c87c. 7.-047c.- 87. >.c.--87<. F07 5+85 7.8-0>, =8h07 =871.5 8c507-
1>0w 5+.7. ,- >0 p+<-,c8l c0>-578,>5 0> D8,l,>g 5+.= 045 ,> .=.7g.>c,.-. T+.
0>l< 0D-58cl. — .8-,l< c0>q4.7.2, 8- w. 1>0w 8ll 500 w.ll — ,- 0>. 0B p0l,5,c8l
w,ll.

F,85 =0>.< l,1.w,-. D.-50w- 0> g0v.7>=.>5 B87 =07. p0w.7 5+8> ,5
w04l2 05+.7w,-. .>h0<. G0v.7>=.>5 c8> >0w 78,-. =0>.< B07 ,5-.lB ,> 5+. ,>-
c0>-p,c404- w8< 0B c7.85,>g ,5 045 0B 5+,> 8,7. I5 c8> g.5 8w8< w,5+ -,p+0>,>g
7.-047c.- B70= 5+. c,5,z.>7< w,5+045 +8v,>g 50 78,-. 58x.- 07 D0770w -0 =4c+
5+85 ,5 27,v.- 4p ,>5.7.-5 785.- B07 p7,v85. D0770w.7-. B05+ 0B 5+.-. =.8>- 0B
78,-,>g 7.v.>4. 85578c5 p4Dl,c ,7.. I> p0l,5,c8l c8lc4l85,0>-, ,5 8pp.87- B87 D.5-
5.7 50 58x 5+. p.0pl. D< 5+. -477.p5,5,04- =.8>- 0B >05 8ll0w,>g p7,c.- 50 B8ll,
8- 5+.< w04l2 >85478ll<, 8>2 ,> B8c5 c84-,>g 5+.= 50 7,-., 5+.7.D< 7.24c,>g 5+.
p.0pl.’- -58>2872 0B l,v,>g. H872l< 8><0>. w,ll 4>2.7-58>2 5+,- p70c.--, 8>2
=0-5 p.0pl. c8> D. =82. 50 D.l,.v. 5+85 g7..2< D4-,>.--=.> 8>2 p7,c. g04g-
.7- 87. 5+. -047c. 0B 5+.,7 w0.-.

F,85 =0>.< 875,Vc,8ll< 8>2 4>h4-5l< ,>c7.8-.- 5+. w.8l5+ 8>2 .c0>0=,c
p0w.7 0B 5+. D8>1,>g -<-5.=, w.ll D.<0>2 w+85 w04l2 0cc47 ,> 5+. B7.. =87-
1.5. O72,>87< ,>2,v,248l- .87> =0>.< D< p70v,2,>g -0=. g002 07 -.7v,c., 8>2
5+.> 581. 5+85 =0>.< ,>50 5+. =871.5 50 8cq4,7. 5+. g002- 8>2 -.7v,c.- 5+.<
5+.=-.lv.- w,-+ 50 +8v.. C7.85,>g =0>.< 045 0B 5+,> 8,7, 0> 5+. 05+.7 +8>2,
8ll0w- 5+. =0>.< c7.8507 50 .>5.7 5+. =871.5 8>2 -.,z. 5+. g002- 07 -.7v,c.-
+. w8>5- w,5+045 +8v,>g V7-5 -4ppl,.2 8><5+,>g +,=-.lB. A- 0>. =0>.587<
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.c0>0=,-5 +8- w7,55.>:

T+. =871.5 .c0>0=< c8> D. 4>2.7-5002 8- 8 g7.85 07g8>,-= 5+85
c85.7- 50 5+. >..2- 0B c0>-4=.7- 8- .xp7.--.2 ,> =0>.< p8<-
=.>5-. W+.> 5+. .c0>0=< ,- j002.2 w,5+ l.g8l-5.>2.7 B78c5,0>-
8l-7.-.7v. >05.-, 5+. w+0l. .c0>0=,c D02< 0B -0c,.5< D.g,>- 50
c85.7 .xc.--,v.l< 50 5+. >..2- 0B 5+0-. w+0 c0>570l 5+. D8>1,>g
,>24-57<. T+. A=.7,c8> .c0>0=,-5 F78>1 F.55.7 0>c. 0D-.7v.2
5+85 5+. 4>+8=p.7.2 =871.5 .c0>0=< 7.-.=Dl.2 8 g78--7005-
2.=0c785,c p70c.--: 0>. p.>><, 0>. =871.5 v05.. F70= 5+,- p0,>5
0B v,.w 5+. ,=p0-,5,0> 0B B78c5,0>8l-7.-.7v. >05.- 5+704g+ l.-
g8l-5.>2.7 l8w- c7.85.- =871.5 v05.- 045 0B >05+,>g. T+. D8>1.7-
8>2 5+.,7 cl,.>5- (4-48ll< 5+. g0v.7>=.>5 ,> 5+. V7-5 pl8c.) +8v.
=8>< =07. v05.- 5+8> 5+.< w04l2 +8v. +82 ,> 8 B7.. -0c,.5<.18

W+,l. 05+.7- 87. .>7,c+.2, 5+. 8v.78g. p.7-0> +8- 50 -574ggl. 50 -8v..
W,5+ +,- =0>.< l0-,>g v8l4. .v.7< <.87, +. w04l2 D. 74,>.2 ,B +. -8v.2 B07
5+. B4547. D< p,l,>g 4p p8p.7 20ll87-. U>2.7 8 p7.c,04--=.58l =0>.<, p.0pl.
c04l2 -8v. B07 5+. B4547. D< -,=pl< 8cq4,7,>g g0l2 8>2 -,lv.7 c0,>-. (I>v.-5,>g
5+85 =0>.< c04l2 <,.l2 5+.= -5,ll +,g+.7 7.547>-, D45 5+.< 8lw8<- 7.58,>.2 5+,-
=07. c0>-.7v85,v. 0p5,0>.) B8c1 w+.> 5+.< c,7c4l85.2 8- =0>.<, 5+.< +.l2
07 ,>c7.8-.2 5+.,7 v8l4. 0v.7 5,=.. T028<, 0> 5+. 05+.7 +8>2, h4-5 50 +0l2 0>
50 5+. p47c+8-,>g p0w.7 0B 5+.,7 -8v,>g-, 50 -8< >05+,>g 0B ,>c7.8-,>g ,5, p.0-
pl. +8v. 50 D.c0=. -p.c4l8507-, >8v,g85,>g 5+.,7 w8< 5+704g+ 5+. V>8>c,8l
=871.5- 8- D.-5 5+.< c8>. IB 5+. -50c1 =871.5 -+04l2 54=Dl., 5+.7. g0.- 5+.,7
7.5,7.=.>5.

Ev.> 5+,- 20.- >05 .x+84-5 5+. 87g4=.>5- 8g8,>-5 ,77.2..=8Dl. p8p.7
=0>.<. A75,Vc,8l =0>.< c7.85,0> D< 8 c.>578l D8>1 c8> 8l-0 ,>j4.>c. 5+.
D4-,>.-- c<cl., w+,c+ w.’ll 2,-c4-- ,> g7.85.7 2.58,l D.l0w. B4-,>.-- c8lc4l8-
5,0> ,- 4>2.7=,>.2 w+.> w+85 l001- l,1. p70V5- c8> 547> 045 50 D. >05+,>g
=07. 5+8> 8 g.>.78l 7,-. ,> p7,c.-. T+.> 5+.7. ,- 5+. =078l 87g4=.>5 5+85 >0
-<-5.= 0B V85 =0>.< +8- .v.7 .=.7g.2 v0l4>587,l<; ,5 ,- 8lw8<- ,=p0-.2 D<
=.8>- 0B 5+. -585.’- 8pp87854- 0B c0=p4l-,0>.
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S5,ll, -4pp075.7- 0B g0v.7>=.>5 V85 =0>.< ,>-,-5 0> 5+. D.>.Vc,8l 8--
p.c5- 0B ,>j85,0>. W. >..2 ,>j85,0>, w.’7. 50l2, D.c84-. 8 g70w,>g .c0>0=<
c8> B4>c5,0> 0>l< ,B 5+. -4ppl< 0B =0>.< ,>c7.8-.- 8l0>g w,5+ ,5. T+,- ,- 8
B8ll8c<. A>< -4ppl< 0B =0>.< c8> B8c,l,585. 8>< >4=D.7 0B 578>-8c5,0>-. IB 5+.
-4ppl< 0B g002- 8>2 -.7v,c.- -+04l2 204Dl., w. 20 >05 >..2 — 8>2 ,5 w04l2
D. p0-,5,v.l< 2,-74p5,v. — 50 204Dl. 5+. -4ppl< 0B =0>.< 8l0>g w,5+ ,5. P7,c-
.- -,=pl< B8ll D< +8lB, 8>2 5+. -8=. -4ppl< 0B =0>.< c8> p47c+8-. 5+. .>5,7.
-4ppl< 0B g002-.

U>5,l 5+. .87l< 5w.>5,.5+ c.>547<, ,> B8c5, p.8c.5,=. p7,c.- B.ll c0>-
-,-5.>5l< 5+704g+045 A=.7,c8> +,-507<. T+,- w,ll c0=. 8- 8 -47p7,-. 50 =0-5
A=.7,c8>-, w+0, +8v,>g g70w> 8cc4-50=.2 50 -..,>g c0>-4=.7 p7,c.- 7,-.
0v.7 5,=., +8v. 5+04g+5l.--l< ,B 4>2.7-58>28Dl< 8--4=.2 5+85 5+,- =4-5 D.
+0w 5+. .c0>0=< w071-. B45 ,5 ,->’5. U>2.7 +872 =0>.< 5+. -4ppl< 0B =0>.<
g70w- 7.l85,v.l< -l0wl<, 8>2 5+. -4ppl< 0B 05+.7 g002- 8>2 -.7v,c.- ,>c7.8-.-
=07. 78p,2l<. W,5+ 5+.-. g002- 8>2 -.7v,c.- =07. 8D4>28>5 w,5+ 7.-p.c5 50
=0>.<, 5+.,7 p7,c.- B8ll.

T028< w.’7. 50l2 5+85 5+,- w04l2 D. 8 5.77,Dl. -,5485,0>. J4-5 5.77,Dl..
B.c84-. ,B c0>-4=.7 p7,c.- B.ll, 8>2 w.7. .xp.c5.2 50 c0>5,>4. B8ll,>g, >0 0>.
w04l2 .v.7 D4< 8><5+,>g. W.’2 8ll D. -,55,>g D8c1 w8,5,>g B07 p7,c.- 50 B8ll
.v.> =07.. O>l< 0> 047 2.85+D.2-, p7.-4=8Dl<, 8- w. w.7. 581,>g ,> 047 l8-5
D7.85+-, w04l2 w. B78>5,c8ll< g78-p 8> ,P02, 8 p8p.7D8c1, 8>2 8 >.w l.85+.7
h8c1.5, -,>c. B07 4- 5+.7. w04l2 85 l8-5 D. >0 =07. 50=0770w 0> w+,c+ p7,c.-
c04l2 B8ll -5,ll =07..

W. w04l2>’5 >..2 50 -p.>2 8>< 5,=. 7.B45,>g 5+,- c78z< 5+.07< ,B ,5
w.7.>’5 c0>-58>5l< 7.p.85.2 D< 047 58l1,>g +.82-, w+0-. h0D ,5 ,- 50 w87> 4- 0B
5+. 4>5+,>18Dl. -c.>87,0- 5+85 w04l2 87,-. w.7. w. >05 c87.B4ll< -4p.7v,-.2
D< 047 -.lB--8c7,Vc,>g p4Dl,c -.7v8>5-. I5 ,- 574. 5+85 p.0pl. p7.B.7 l0w.7 p7,c-
.- 50 +,g+.7 0>.-, D45 ,5 ,- 8l-0 574. 5+85 5+.< v8l4. g002- ,> 5+. p7.-.>5 =07.
+,g+l< 5+8> 5+.< 20 5+. -8=. g002- ,> 5+. B4547.. T+,- B8c507 0?-.5- 5+. 2.-,7.
50 w8,5 ,>2.V>,5.l< B07 8 l0w.7 p7,c.. A c8>2< D87 5028< ,- =07. -.7v,c.8Dl. 50
8 c0>-4=.7 5+8> ,- 8 c8>2< D87 8v8,l8Dl. 0>l< 5w0, 5.>, 07 B047 +4>27.2 <.87-
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B70= >0w, .v.> ,B 5+. c8>2< D87 w,ll D. c+.8p.7 5+.>. S8>. p.0pl. 20 >05 7.-
B4-. 50 p47c+8-. 8 0>.-20ll87 c4p 0B c0?.. h4-5 D.c84-. 5+.< .xp.c5 5+. p7,c.
50 B8ll 50 95 c.>5- 5+7.. <.87- B70= >0w. T+. p7,c.- 0B p.7-0>8l c0=p45.7-
+8v. -5.82,l< B8ll.> w+,l. 5+.,7 q48l,5< +8- -5.82,l< 7,-.>. H8v. w. 8ll -50,c8ll<
8w8,5.2 -5,ll B475+.7 2.cl,>.- ,> p7,c., 07 +8v. 8 B.w 0B 4- D701.> 20w> 8>2 8c-
548ll< p47c+8-.2 8 c0=p45.7?

T+.> w.’7. 50l2 5+85 B8ll,>g p7,c.- =4-5 5+7.85.> D4-,>.-- p70V58D,l,5<
8>2 .v.> l.82 50 =8-- D8>174p5c,.-. H0w c8> D4-,>.-- V7=- -47v,v. ,B 5+.
-.ll,>g p7,c.- 0B 5+.,7 g002- -422.>l< B8ll?19

IB 5+. 2.j85,0> ,- 8>5,c,p85.2, 5+.7. ,- >0 p70Dl.=. (I5 ,-, 8B5.7 8ll, 5+.
70l. 0B 5+. .>57.p7.>.47 50 8>5,c,p85. 5+. p7,c.- 85 w+,c+ +. c8> p70V58Dl<
-.ll +,- p7024c5- ,> 5+. B4547..) B4-,>.--.- 7.=8,> h4-5 8- p70V58Dl. 8- 5+.<
w04l2 +8v. D..> +82 p7,c.- 7,-.> 07 7.=8,>.2 c0>-58>5 (8- l0>g 8- 5+.< +82
8>5,c,p85.2 5+0-. 045c0=.- 8- w.ll). IB D4-,>.-- V7=- .xp.c5 p7,c.- 50 B8ll D<
5+. 5,=. 5+.< D7,>g 5+.,7 g002- 50 =871.5, 5+.< w,ll D. w,ll,>g 50 p8< l.-- ,>
5+. p7.-.>5 B07 8ll 5+. ,>p45-, 07 B8c507- 0B p7024c5,0> (7.-047c.- .=pl0<.2
50 p7024c. g002- 8>2 -.7v,c.-), 5+.< >..2 50 p7024c. 5+.,7 g002-. IB 8 g.>.7-
8l B8ll ,> p7,c.- ,- .xp.c5.2, -4ppl,.7- 0B 5+.-. B8c507- 0B p7024c5,0> w,ll +8v.
>0 c+0,c. D45 50 8cc.p5 5+.-. l0w.7 D,2- B07 5+.,7 g002- 8>2 -.7v,c.-, -,>c.
>0 0>. w,ll D. 8Dl. 50 8?072 50 c0>5,>4. D4<,>g ,>p45- B70= 5+.= 85 5+. 0l2,
+,g+.7 p7,c. l.v.l w+,l. 7.=8,>,>g p70V58Dl.. I> 5+,- w8<, 8> .xp.c5.2 B8ll ,>
c0>-4=.7 p7,c.- ,- B8c507.2 ,> 50 5+. p7,c.- D4-,>.-- V7=- p8< B07 5+. g002-
5+.< 4-. 8- ,>p45-, 5+.7.D< =8,>58,>,>g p70V58D,l,5< B07 5+.-. V7=- .v.> ,>
5+. B8c. 0B B8ll,>g p7,c.-.

T+4- 8 w,2g.5 c0=p8>< =8< p8< $10 ,> ,>p45- B07 .v.7< w,2g.5 ,5 p70-
24c.-, 8>2 D. 8Dl. 50 -.ll .8c+ 0B 5+.-. w,2g.5- 50 5+. p4Dl,c 85 $15. S4pp0-.
p7,c.- D.g,> 50 B8ll, 8>2 w,2g.5- 87. .xp.c5.2 50 -.ll 85 0>l< $9 (,>-5.82 0B
$15) D< 5+. 5,=. 5+.< 87. 7.82< 50 D. D704g+5 50 =871.5 >.x5 <.87. T+. w,2g.5
=8>4B8c547.7 c8> >0w 8?072 50 c0>5,>4. p7024c,>g w,2g.5- ,B +. c8> 8cq4,7.
+,- ,>p45- B07, -8<, $6 ,>-5.82 0B 5+. p7.v,04- $10. IB +. c8> 20 -0, 5+.> +. w,ll
-5,ll =81. 8 p70V5 .v.> ,> 5+,- 2.j85,0>87< .>v,70>=.>5. T+.7. w,ll -5,ll D. 8
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p0-,5,v. -p7.82 D.5w..> +,- -8l.- 7.v.>4.- 8>2 +,- c0-5-. B45 ,B, 8- ,- 5+. c8-.
,> 8 g.>.78l 2.j85,0>, 8ll p7,c.- 87. B8ll,>g, -4ppl,.7- w,ll +8v. >0 c+0,c. D45
50 c45 p7,c.- (w+,c+ 5+.< c8> ,>2..2 20, -,>c. 5+.,7 0w> c0-5- w,ll D. B8ll,>g
g,v.> 5+. g.>.78l B8ll ,> p7,c.-).20 P7024c5,0> w,ll c0>5,>4. p70V58Dl< 8- D.-
B07..

W+85 ,B 5+. 2.j85,0> ,- un8>5,c,p85.2? I> 5+85 c8-., -0=. V7=- w,ll V>2
5+.=-.lv.- 4>8Dl. 50 -.ll 5+.,7 p7024c5 85 8 p7,c. 5+85 w,ll D7,>g 5+.= 8> 82-
.q485. 7.547>, 8>2 5+.< =8< .v.> -4?.7 l0--.- (D.c84-. 5+. p7,c.- 5+.< c8>
B.5c+ B07 5+.,7 p7024c5-, 5+8>1- 50 5+. 2.j85,0>, 87. l0w.7 5+8> 5+.< .xp.c5.2
5+.= 50 D.). I> .?.c5, 5+.< V>2 5+85 5+.< +82 p8,2 500 =4c+ B07 5+. B8c507-
0B p7024c5,0> 50 l.8v. 5+.= w,5+ 8 p70V5, ,> l,g+5 0B 5+. l0w.7 p7,c.- 5+.< c8>
>0w c+87g. B07 5+.,7 p7024c5-. F07 5+85 7.8-0>, 5+. 7.-4l5 0B 4>8>5,c,p85.2
2.j85,0> B07 8 g,v.> V7= c04l2 v.7< w.ll D. D8>174p5c<. T+. V7= w04l2 5+.>
w,>2 4p ,> D8>174p5c< c0475, w+.7. 7.07g8>,z85,0> 0B 5+. V7= 07 5+. -8l. 8>2
2,-57,D45,0> 0B ,5- 8--.5- 50 ,5- c7.2,507- ,> 072.7 0B -.>,07,5< 581.- pl8c..

N0w ,B 5+. 8--.5- 87. -0l2 0?, 5+.< 87. =.7.l< -+,B5.2 B70= 0>. p7024c-
5,0> p70c.-- 50 8>05+.7 D45 c0>5,>4. ,> 4-.. IB 5+. V7= c0>5,>4.- ,> 0p.785,0>
D45 4>2.7 >.w 0w>.7-+,p, 8- 5+. V7=’- c7.2,507- 581. 5+. 7.,>-, ,5- p7.v,04-
p7024c5,0> p70c.-- l,1.w,-. c0>5,>4.- 8- D.B07.. S0 w+,l. D8>174p5c< ,- =0-5
4>B0754>85. B07 8 p875,c4l87 V7=, it is o2 no signi3cance to the economy in the
aggregate. I5 20.- >05 =855.7 50 .c0>0=,c 8c5,v,5< w+0 5+. p875,c4l87 0w>.7-
0B V7=- +8pp.> 50 D.. IB 0w>.7-+,p c+8>g.- +8>2- B70= 0>. g704p 0B p.0pl.
50 8>05+.7 8- 5+. 7.-4l5 0B D8>174p5c< p70c..2,>g-, 5+,- 20.- >05 =855.7 B70=
5+. p0,>5 0B v,.w 0B 5+. .c0>0=< 8- 8 w+0l.. F70= 5+. .c0>0=<’- p.7-p.c5,v.,
>05+,>g +8- c+8>g.2. P7024c5,0> c0>5,>4.- 8- D.B07..

A- w. -+8ll -.. D.l0w, c.>578l D8>1 ,>j85,0> 5+85 p4=p- =0>.< ,>50
5+. D8>1,>g -<-5.= 8>2 p4-+.- ,>5.7.-5 785.- 20w> g,v.- 7,-. 50 8> 875,Vc,8l
.c0>0=,c D00= 5+85 2,-5075- 5+. -574c547. 0B p7024c5,0> 8>2 .>c0478g.- 5+.
c7.85,0> 07 .xp8>-,0> 0B -.c507- 0B 5+. .c0>0=< 5+85 w,ll +8v. 50 c0>578c5 07
cl0-. 20w> w+.> 5+. ,>.v,58Dl. D4-5 c0=.- 8l0>g. T+.-. 1,>2- 0B ,>j85,0>-B4-
.l.2 2,-5075,0>- 20 >05 0cc47 ,> 8 2.j85,0>87< .>v,70>=.>5. T+. w07-5 5+85
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c04l2 +8pp.> B70= 5+. p0,>5 0B v,.w 0B p7024c5,0> ,- 8 -.7,.- 0B +,cc4p-, =,-
>07 8>2 5.=p0787< ,>5.774p5,0>-, w+,l. D8>174p5c< c0475- -075 045 q4.-5,0>-
0B 0w>.7-+,p 8>2 c0=p.>-85,0>.

C7,5,c- w,ll 7.pl< 5+85 2.j85,0> ,- ,>2..2 8 5.77,Dl. B85. 50 D. 8v0,2.2
D.c84-. V7=- l082.2 w,5+ 2.D5 w,ll V>2 5+0-. 2.D5- +872.7 50 p8< D8c1 — 8
$1 =,ll,0> l08> c0>578c5.2 Vv. <.87- 8g0 ,- =07. 2,fc4l5 50 7.p8< 5028< ,B 5+.
20ll87 ,- >0w w075+ =07. (8>2 ,- 5+4- >0w +872.7 50 c0=. D<), h4-5 8- 8 2.D5
,- easier 50 p8< ,B 5+. 20ll87 +8- lost v8l4. 247,>g 5+. p.7,02 0B 5+. l08>. B45
B07 0>. 5+,>g, D8>1- c04l2 -,=pl< 7.>.g05,85. 5+. 2.D5 ,> l,g+5 0B 5+. =0>.<’-
,>c7.8-.2 p47c+8-,>g p0w.7. A>2 .v.> ,B D8>1- ,>-,-5.2 0> p8<=.>5 0B 5+.
2.D5 ,> 5+. 8g7..2-4p0> >4=D.7 0B >0=,>8l 20ll87-, w. 87. B8c.2 =.7.l< w,5+
5+. p70Dl.= 0B D8>174p5c< — 8g8,>, 8 p70Dl.= B07 8> ,>2,v,248l V7=, D45 >05
8 p70Dl.= B07 5+. .c0>0=< 85 l87g.. O>c. 8g8,>, >.w 0w>.7- 581. 0v.7, 8>2
p7024c5,0> c0>5,>4.- 8- D.B07..

A>2 w+0 -8<- +.8v< 2.D5 8>2 +,g+ l.v.78g. 87. 5+. D.-5 =.8>- B07 V-
>8>c,>g 8 D4-,>.-- V7=? W+< -+04l2 5+.-. =.8>- D. 875,Vc,8ll< .>c0478g.2?
P.7+8p- ,5 w04l2 D. D.55.7, .-p.c,8ll< ,> l,g+5 0B 5+. p7,v85. 2.D5 l.v.l- 0B 7.-
c.>5 <.87-, 50 +8v. 8 -<-5.= 5+85 .>c0478g.- V7=- 50 V>8>c. 5+.=-.lv.- w,5+
.q4,5< 785+.7 5+8> =07. 8>2 =07. 2.D5.

F,>8ll<, w. =,g+5 >05. 5+85 2.j85,0>, c0>5787< 50 w+85 w. 0B5.> +.87,
+8- >05 ,> B8c5 D..> 8--0c,85.2 w,5+ .c0>0=,c 2.p7.--,0> ,> +,-507<. Acc072-
,>g 50 8 2004 -542< ,> 5+. American Economic Review, w+,c+ .x8=,>.2 2858
B70= 8704>2 5+. w07l2, “T+. 2858 -4gg.-5 5+85 2.j85,0> ,- >05 cl0-.l< 7.l85.2
50 2.p7.--,0>-. A D7082 +,-507,c8l l001 V>2- =07. p.7,02- 0B 2.j85,0> w,5+
7.8-0>8Dl. g70w5+ 5+8> w,5+ 2.p7.--,0>, 8>2 =8>< =07. p.7,02- 0B 2.p7.--
-,0> w,5+ ,>j85,0> 5+8> w,5+ 2.j85,0>. Overall, the data show virtually no
link between de7ation and depression.”21

T0 D. -47., 5+.7. ,- =4c+ =07. 5+85 D05+ -,2.- c8> -8< 8D045 2.j85,0>,
D45 5+,- -,=pl. 8>8l<-,- -+04l2 D. .>04g+ 50 =81. 5+. 7.82.7 -4-p.c5 5+85 8
B8ll ,> p7,c.- =8< >05 D. 5+. .>2 0B 5+. w07l2 8B5.7 8ll. B45 ,B 5+85’- 574., 5+.>
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w+< 8ll 5+. +<-5.7,8 8D045 2.j85,0>, +<-5.7,8 w. >.v.7 +.87 w,5+ 7.-p.c5 50
,>j85,0>?

T+,>1 8D045 w+0 -4?.7- =0-5 247,>g 2.j85,0>. O>. v,c5,= ,- 5+. g0v-
.7>=.>5 — w+,c+, 8lw8<- 2..pl< ,> 2.D5 ,> 5+. =02.7> .78, +8- 8 =4c+
+872.7 5,=. -.7v,c,>g 5+85 2.D5 w+.> ,5 +8- 50 7.p8< 2.D5-+0l2.7- w,5+ =07.
v8l48Dl. 20ll87- 5+8> ,5 D0770w.2. A>05+.7 ,- 5+. 8778< 0B V>8>c,8l V7=- 0>
W8ll S57..5 5+85 +8v. 8778>g.2 5+.,7 2.D5-D8-.2 ,>v.-5=.>5 -5785.g,.- ,> 5+.
F.2-,>-p,7.2 .xp.c585,0> 0B 0>g0,>g p7,c. ,>j85,0>. W+.> 5+.-. V7=- -42-
2.>l< V>2 5+.< >..2 50 7.p8< -+075-5.7= 2.D5 ,> =07. v8l48Dl. 20ll87- 5+8>
5+.< D0770w.2, 5+.,7 2.D5-B4.l.2 +04-. 0B c872- c0=.- c78-+,>g 20w>.

N05. 5+85 -0=. 0B 5+. =0-5 p0w.7B4l 8>2 ,>j4.>5,8l B07c.- ,> -0c,.5<
— 5+0-. 5+85 D.>.V5 =0-5 B70= c+.8p =0>.<, 8>2 w+0 g.5 5+. >.wl< c7.85.2
=0>.< D.B07. 8><0>. .l-. — 87. 5+. 0>.- =0-5 +475 D< 2.j85,0>. Ev.7<0>.
.l-. D.>.V5- B70= B8ll,>g p7,c.- 8>2 5+.7.B07. +,g+.7 7.8l ,>c0=.-. M07. 50
5+. p0,>5, 5+0-. p.0pl. w+0 -4?.7.2 B70= 5+. ,>j85,0> — >05 h4-5 5+0-. 0>
Vx.2 ,>c0=.- D45 8l-0 5+. g.>.78l 74> 0B 5+. p0p4l85,0> — 8>2 w+0 w04>2
4p p8<,>g +,g+.7 p7,c.- B07 .v.7<5+,>g 5+.< D04g+5, >0w D.>.V5 B70= 5+. ,>-
c7.8-. ,> 5+. 20ll87’- v8l4. 8>2 5+. B8ll ,> p7,c.-. (Ec0>0=,-5 J0-.p+ S8l.7>0
-4gg.-5- 5+. 5.7= rabbatage 50 7.B.7 50 5+,- 7.v.7-8l 0B B0754>.- 5+85 0cc47-
247,>g 2.j85,0>.)22

T+4- ,5 ,- l,55l. w0>2.7 5+85 w. +.87 >05+,>g D45 +<-5.7,8 8D045 2.j8-
5,0>, w+,c+ +475- 5+. p0l,5,c8l 8>2 .c0>0=,c .-58Dl,-+=.>5 5+. =0-5, 8>2 0>l<
5+. =,l2.-5 c0>c.7> 8D045 ,>j85,0>, w+,c+ +475- .v.7<0>. .l-.. IB I w.7. 5+.
+.82 0B 8 +,g+l< l.v.78g.2 V7= 8>2 w077,.2 8D045 =< V7=’- 8D,l,5< 50 -.7v,c.
,5- 2.D5, 07 ,B I +.82.2 5+. F.2.78l R.-.7v. S<-5.=, w+,c+ c0>-,-5.>5l< ,>-
j85.- 8w8< 5+. 20ll87’- p47c+8-,>g p0w.7 8>2 g,v.- 5+. c04>57< +,g+.7 p7,c.-
5+8> w. w04l2 05+.7w,-. +8v. B8c.2, I 500 w04l2 w8>5 50 p07578< 2.j85,0> 8-
8> 4>5+,>18Dl. 2,-8-5.7 B70= w+,c+ 0>g0,>g 20-.- 0B ,>j85,0> 87. =.8>5 50
p705.c5 <04. B45 2.j85,0> ,- >05 8> .c0>0=,c p70Dl.=, 8- w. +8v. -..>. I5 ,-
8 p0l,5,c8l p70Dl.=, ,> 5+85 5+0-. p875,.- 5+85 .xp.c5 50 D. +475 D< ,5 -..1 50
4-. 5+. =8c+,>.7< 0B g0v.7>=.>5 8>2 c.>578l D8>1,>g 50 p7.v.>5 ,5 07 85 l.8-5
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=,5,g85. ,5- .?.c5-.

N0w ,5’- 574. 5+85 8 =8--,v. 4>8>5,c,p85.2 2.j85,0> w04l2 c84-. w,2.-
-p7.82 8>2 4>2.-,78Dl. 2,-74p5,0> B07 8 l05 0B D4-,>.-- 0w>.7-, 5+04g+ 8-
w.’v. -..> ,5 >..2 >05 ,>5.7B.7. w,5+ 0v.78ll p7024c5,0> 50 8>< -,g>,Vc8>5 .x-
5.>5. B45 ,B 5+,- ,- <047 c0>c.7>, 5+.> +872 =0>.< D.c0=.- 8ll 5+. =07. 2.-,7-
8Dl.. B.c84-. 5+. p70c.-- 0B g0l2 8>2 -,lv.7 =,>,>g ,- -0 5,=. c0>-4=,>g, 8>2
5+4- ,>c7.8-.- ,> g0l2 8>2 -,lv.7 c0=,>g 0> 50 5+. =871.5 87. 5.l.g78p+.2 w.ll
,>50 5+. B4547., ,5 ,- B87 .8-,.7 50 8>5,c,p85. 5+. B4547. =0v.=.>5 0B 5+. =0>.<
-4ppl< 4>2.7 g0l2 07 -,lv.7 5+8> ,5 ,- 50 8>5,c,p85. +0w =4c+ =0>.< 8 c.>578l
D8>1 c+8,7=8> =,g+5 c+00-. 50 c7.85. 07 2.-570<. M07. ,=p0758>5l<, 5+. -4p-
pl< 0B g0l2 8>2 -,lv.7 ,->’5 g0,>g 8><w+.7.. I5 ,- >05 -4Dh.c5 50 -422.> 270p-
5+. w8< p8p.7 =0>.< ,-. All 5+. g0l2 8>2 -,lv.7 5+85 +8v. .v.7 D..> =,>.2 87.
-5,ll 8v8,l8Dl. -0=.w+.7. 0> 5+. .875+’- -47B8c.. T+. -4ppl< 0B p8p.7 =0>-
.<, p7.c,-.l< D.c84-. ,5 c8> D. c7.85.2 85 w,ll 8>2 ,> 8>< 8=04>5 045 0B 5+,>
8,7, j4c5485.- w,l2l< ,> -4ppl< w+.> c0=p87.2 50 5+. 7.l85,v.l< -58Dl. -4ppl<
0B g0l2 8>2 -,lv.7. S422.> c78-+.- ,>v0lv,>g =8--,v. 270p- ,> 5+. -4ppl< 0B
=0>.< 20 >05 0cc47 ,> 8 +872-=0>.< -<-5.=.

F8-+,0>8Dl. 0p,>,0> ,- 0B c047-. +077,V.2 85 8>2 2,-=,--,v. 0B 5+.
g0l2 -58>2872. I5’- -54p,2, ,5’- D8c1w872, ,5’- >05 -0p+,-5,c85.2 l,1. 047 =0>-
.<-p7,>5,>g -<-5.= 0B 5028<, .5c. IB Vg47.- 0B p70=,>.>c. 7,2,c4l. ,5 .>04g+,
8v.78g. p.0pl. w,ll 8--4=. ,5 =4-5 D. 8 B00l,-+ ,2.8 8>2 5+,>1 >0 =07. 8D045
,5. Ec0>0=,-5 L42w,g v0> M,-.- c45 5+704g+ 5+. p70p8g8>28 50 .xpl8,> 5+.
v,754.- 0B 5+. g0l2 -58>2872, v,754.- w+,c+ 8cc04>5 B07 w+< -4pp075.7- 0B
p0w.7 0pp0-. ,5 w,5+ -4c+ v,g07:

T+. .=,>.>c. 0B 5+. g0l2 -58>2872 c0>-,-5- ,> 5+. B8c5 5+85 ,5
=81.- 5+. 2.5.7=,>85,0> 0B 5+. =0>.587< 4>,5’- p47c+8-,>g p0w.7
,>2.p.>2.>5 0B 5+. =.8-47.- 0B g0v.7>=.>5-. I5 w7.-5- B70= 5+.
+8>2- 0B 5+. “.c0>0=,c 5-87-” 5+.,7 =0-5 7.204D58Dl. ,>-574=.>5.
I5 =81.- ,5 ,=p0--,Dl. B07 5+.= 50 ,>j85.. T+,- ,- w+< 5+. g0l2
-58>2872 ,- B47,04-l< 8558c1.2 D< 8ll 5+0-. w+0 .xp.c5 5+85 5+.<
w,ll D. D.>.V5.2 D< D04>5,.- B70= 5+. -..=,>gl< ,>.x+84-5,Dl.
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g0v.7>=.>5 p47-..

W+85 ,- >..2.2 V7-5 0B 8ll ,- 50 B07c. 5+. 74l.7- 50 -p.>2 0>l<
w+85, D< v,754. 0B 24l< p70=4lg85.2 l8w-, 5+.< +8v. c0ll.c5.2 8-
58x.-.… N0 D8c1 2007 =4-5 D. l.B5 0p.> w+.7. ,>j85,0> c8> -l,p
,>. N0 .=.7g.>c< c8> h4-5,B< 8 7.547> 50 ,>j85,0>. I>j85,0> c8>
p70v,2. >.,5+.7 5+. w.8p0>- 8 >85,0> >..2- 50 2.B.>2 ,5- ,>2.p.>-
2.>c. >07 5+. c8p,58l g002- 7.q4,7.2 B07 8>< p70h.c5. I5 20.- >05
c47. 4>-85,-B8c507< c0>2,5,0>-. I5 =.7.l< +.lp- 5+. 74l.7- w+0-.
p0l,c,.- D704g+5 8D045 5+. c858-570p+. 50 .xc4lp85. 5+.=-.lv.-.

O>. 0B 5+. g08l- 0B 5+. 7.B07= -4gg.-5.2 [8 7.547> 50 -04>2
=0>.<, 8 -<-5.= ,> w+,c+ g0v.7>=.>5- c8>>05 c7.85. =0>.< 85
w,ll] ,- 50 .xpl02. 8>2 50 1,ll B07.v.7 5+. -4p.7-5,5,04- D.l,.B 5+85
g0v.7>=.>5- 8>2 D8>1- +8v. 5+. p0w.7 50 =81. 5+. >85,0> 07
,>2,v,248l c,5,z.>- 7,c+.7, 045 0B >05+,>g 8>2 w,5+045 =81,>g
8><D02< p007.7. T+. -+075-,g+5.2 0D-.7v.7 -..- 0>l< 5+. 5+,>g-
5+. g0v.7>=.>5 +8- 8cc0=pl,-+.2 D< -p.>2,>g 5+. >.wl< c7.85.2
=0>.<. H. 20.- >05 -.. 5+. 5+,>g- 5+. >0>p.7B07=8>c. 0B w+,c+
p70v,2.2 5+. =.8>- B07 5+. g0v.7>=.>5’- -4cc.--. H. B8,l- 50
7.8l,z. 5+85 ,>j85,0> 20.- >05 c7.85. 822,5,0>8l g002- D45 =.7.l<
-+,B5- w.8l5+ 8>2 ,>c0=. B70= -0=. g704p- 0B p.0pl. 50 05+.7-.23

T+,- ,- >05 8 -,2. ,--4. 5+85 w. c8> -8B.l< >.gl.c5, 5+85 w. =,g+5 B0c4-
,>-5.82 0> =855.7- 5+85 =,g+5 D. c0>-,2.7.2 =07. B8-+,0>8Dl. 07 p0l,5,c8ll<
v,8Dl.. Ec0>0=,-5 F. A. H8<.1 w87>.2 8D045 5+,- .xc.--,v. c0>c.7> w,5+ p0-
l,5,c8l B.8-,D,l,5<. IB 5+,- ,- 8 g704p’- 0v.77,2,>g c0>c.7>, ,5 w,ll >.v.7 ,>j4.>c.
p4Dl,c 0p,>,0>. I5 w,ll -,=pl< D. -5.8=70ll.2 D< .v.>5-.

W+85 w. l8c1 ,-…8 p70g78= w+,c+ -..=- >.,5+.7 8 =.7. 2.B.>-.
0B 5+,>g- 8- 5+.< 87. >07 8 2,l45.2 1,>2 0B -0c,8l,-=, D45 8 574-
l< l,D.78l 782,c8l,-= w+,c+ 20.- >05 -p87. 5+. -4-c.p5,D,l,5,.- 0B
5+. =,g+5<…w+,c+ ,- >05 500 -.v.7.l< p78c5,c8l, 8>2 w+,c+ 20.-
>05 c0>V>. ,5-.lB 50 w+85 8pp.87- 5028< 8- p0l,5,c8ll< p0--,Dl..
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W. >..2 ,>5.ll.c548l l.82.7- w+0 87. w,ll,>g 50 w071 B07 8> ,2.8l,
+0w.v.7 -=8ll =8< D. 5+. p70-p.c5- 0B ,5- .87l< 7.8l,z85,0>. T+.<
=4-5 D. =.> w+0 87. w,ll,>g 50 -5,c1 50 p7,>c,pl.- 8>2 50 Vg+5 B07
5+.,7 B4ll 7.8l,z85,0>, +0w.v.7 7.=05..

T+0-. w+0 +8v. c0>c.7>.2 5+.=-.lv.- .xcl4-,v.l< w,5+
w+85 -..=.2 p78c5,c8Dl. ,> 5+. .x,-5,>g -585. 0B 0p,>,0> +8v. c0>-
-58>5l< B04>2 5+85 .v.> 5+,- +82 78p,2l< D.c0=. p0l,5,c8ll< ,=p0--
-,Dl. 8- 5+. 7.-4l5 0B c+8>g.- ,> 8 p4Dl,c 0p,>,0> w+,c+ 5+.< +8v.
20>. >05+,>g 50 g4,2..24

I--4.- D.c0=. p0l,5,c8ll< v,8Dl. p7.c,-.l< D.c84-. 5+.< 87. 2,-c4--.2
785+.7 5+8> .v82.2. T+85 ,- 5+. p70p.7 7.pl< 50 5+0-. 5,=,2 “B7..-=871.5”
.c0>0=,-5- w+0 -4pp075.2 v87,04- 8-p.c5- 0B 5+. W8ll S57..5 D8,l045- 0> 5+.
g704>2- 5+85 8 p875,c4l87 =.8-47. w8- 5+. D.-5 0B 5+. “p0l,5,c8ll< v,8Dl.” 0p-
5,0>-. P.7+8p- 05+.7 0p5,0>- w04l2 +8v. D..> p0l,5,c8ll< v,8Dl. ,B c0w872l<
.c0>0=,-5- +82 +.lp.2 50 -+8p. 5+. 2.D85. D< 5.ll,>g 5+. 5745+, 2.B.>2,>g 5+.
B7.. =871.5, 8>2 l.55,>g 5+. c+,p- B8ll w+.7. 5+.< =8<, ,>-5.82 0B =..1l< 8c-
q4,.-c,>g ,> =8,>-57.8= 0p,>,0>.

T0 +,- c7.2,5, R4-+ L,=D84g+ 57,.2 <.87- 8g0 50 2.v05. 0>. 0B +,- p70-
g78=- 50 5+. c7,5,c8l -4Dh.c5- 0B =0>.< 8>2 c7.2,5, -4Dh.c5- A=.7,c8>- >..2 50
4>2.7-58>2 c0l2 ,B w. 87. 50 +8v. 8>< +0p. 0B 7.v.7-,>g 5+. 5.77,Vc =.-- 047
g0v.7>=.>5 8>2 c.>578l D8>1 +8v. c84-.2. R4-+ 20.->’5 +8v. 5+. 7,g+5 8>-
-w.7-, D45 85 l.8-5 +. w8- 8-1,>g 5+. 7,g+5 q4.-5,0>-, w+,c+ ,- =07. 5+8> c8>
D. -8,2 B07 =0-5 782,0 +0-5-. U>B0754>85.l<, +. w8- p70=p5l< j002.2 w,5+ l,--
5.>.7 .=8,l- 47g,>g +,= 50 270p 5+85 -4Dh.c5 8>2 58l1 ,>-5.82 8D045 C870l,>.
K.>>.2<’- ,>5.>5,0>- 50 74> B07 U.S. S.>85., 8> ,--4. 0B z.70 ,=p0758>c..25

T+. g0v.7>=.>5 8>2 ,5- p7,v,l.g.2 c.>578l D8>1 87. >05 5+. ,>2,-p.>--
8Dl. -4pp075- 0B 047 =0>.587< -<-5.=. T+.< 87., 8- M,-.- -8,2, ,>5.7l0p.7-.
T+.< g,v. 4- 2,-c0072,>85,0> 8>2 c+80-. T+.< .>7,c+ 5+. B8v07.2 B.w 85 5+.
.xp.>-. 0B 5+. =8><. T+.< =81. p0--,Dl. 8> .xp8>-,0> 0B g0v.7>=.>5 p0w.7
5+85 w04l2 +8v. D..> 4>5+,>18Dl. ,> .87l,.7 5,=.-.
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T+. F.2.78l R.-.7v. ,- 574l< 5+. .l.p+8>5 ,> 5+. l,v,>g 700=. W. 87.
-4pp0-.2 50 p7.5.>2 ,5 ,->’5 5+.7.. F.w.7 8>2 B.w.7 p.0pl. 87. pl8<,>g 5+,-
g8=. 8>< l0>g.7. T+.< +8v. p4ll.2 D8c1 5+. c4758,> 8>2 581.> 8 g002, +872
l001 85 5+. F.2 8>2 ,5- c.>578l pl8>>,>g =8>285.. N0 w0>2.7 T+0=8- C00l.<
47g.2 5+. F.2 ,> M8< 2009 5+85 ,5 >..2.2 50 D.c0=. “D07,>g” 8g8,>: 8ll ,5-
4>p7.c.2.>5.2 8c5,v,5,.- w.7. 85578c5,>g 855.>5,0> 50 ,5.26 T+. p.0>- 87. >05 50
w077< 5+.,7 p7.55< l,55l. +.82- 8D045 w+85 g0.- 0> 85 5+. F.2.

I5 ,- >05 h4-5 5+85 5+. F.2 +8- D..> 8 B8,l47. 8cc072,>g 50 5+. 4>7.8-
-0>8Dl< .x8c5,>g -58>2872- 0B ,5- ,>c077,g,Dl. c7,5,c-, 8- ,5- -4pp075.7- 8ll.g..
A- w. +8v. -..> ,> 5+,- .B001, 5+. F.2 +8- D..> 8 B8,l47. 0> ,5- 0w> 5.7=-.
I5 +8- >05 ,> B8c5 2.l,v.7.2 w+85 ,5 p70=,-.2. Ol2 2858 5+85 ,5- -4pp075.7-
0>c. p0,>5.2 50 ,> 57,4=p+ +8v. D..> -+0w> ,> 7.c.>5 <.87- 50 D. +0p.l.--l<
j8w.2. P.0pl. w+0 cl8,= 5+. F.2 +8- D..> 8 B8>58-5,c -4cc.-- 87. Dl4f>g, 07
20 >05 1>0w w+85 5+.< 87. 58l1,>g 8D045. T+. .=p.707 574l< +8- >0 cl05+.-.

W. >..2 >.,5+.7 8 =0>0p0l,-5,c, g0v.7>=.>5-,--4.2 p8p.7 =0>.<, >07
,>2..2 8 g0v.7>=.>5-,=p0-.2 g0l2 -58>2872 (8l5+04g+ 5+85 w04l2 D. 8 -,g-
>,Vc8>5 ,=p70v.=.>5). IB .v.7 5+.7. w.7. 8><5+,>g g0v.7>=.>5 c8>>05 D.
574-5.2 50 =0>0p0l,z., ,5 ,- =0>.<, 8- H8<.1 c0>cl42.2 B047 <.87- 8B5.7 w,>-
>,>g 5+. N0D.l P7,z. ,> .c0>0=,c-.27 A- I w705. ,>Meltdown, w. .,5+.7 D.-
l,.v. ,> 5+. B7.. =871.5 07 w. 20 >05. T+. =871.5 +8- >0 >..2 0B, 8>2 ,- p0--
,5,v.l< +87=.2 D<, 8> 8>0=8l04- pl8>>,>g 8g.>c< ,> 5+. 7.8l= 0B =0>.< 8>2
,>5.7.-5 785.-. C0>578c5-, p7,v85. p70p.75<, 8>2 v0l4>587< +4=8> 7.l85,0>- 87.
8- c8p8Dl. 0B p70v,2,>g =0>.< 8- 5+.< 87. 8>< 05+.7 .c0>0=,c g002.

T+. 78< 0B +0p. ,> 8ll 5+,- ,- 5+85 B07 5+. V7-5 5,=. ,> >.87l< 8 c.>547<,
5+. F.2 ,- 7045,>.l< -4Dh.c5.2 50 cl0-. -c745,><, w,5+ =07. 8>2 =07. A=.7-
,c8>- ,>B07=,>g 5+.=-.lv.- 8D045 ,5- +,-507< 8>2 ,5- 8c5,v,5,.-. M07. A=.7-
,c8>- 5+8> .v.7 87. 7.82,>g 5+. w071 0B .c0>0=,-5- l,1. M4778< R05+D872
(1926-1995), w+0-. D001- The Case Against the Fed 8>2What Has Gov-
ernment Done to Our Money? 87. 8v8,l8Dl. 50 7.82 0>l,>. B07 B7... U>5,l 5+.
I>5.7>.5 ,>c7.8-.2 5+. 8v.78g. p.7-0>’- 8cc.-- 50 ,>B07=85,0>, 5+0-. w+0
+,g+l,g+5.2 0Dh.c5,0>- 50 5+. F.2 c04l2 D. ,g>07.2 07 2.7,2.2 8- c78>1-. B45
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8- p.0pl. +8v. D.g4> 50 l,-5.> 50 8>2 7.82 5+. .c0>0=,-5- 0B 5+. A4-57,8>
Sc+00l, 5+.< +8v. B04>2 5+,>1.7- w+0 87. >05 c78>1-. T+.< +8v. B04>2 h4-5
8D045 5+. 0>l< p.0pl. w+0 =81. 8>< -.>-.. I5 ,- 5+. 8ll.g.2 .xp.75- w+0 +8v.
D.g4> 50 -04>2 l,1. 5+. c78>1-.

T+,- >.wB04>2 ,>5.7.-5 ,> 5+. F.2 c04l2>’5 +8v. c0=. 85 8 D.55.7 5,=..
All 5+. 05+.7w,-. w.lc0=. 58l1 8D045 70ll,>g D8c1 g0v.7>=.>5 p0w.7 8>2
-p.>2,>g w,ll c0=. 50 >84g+5 4>l.-- 5+. F.2, 5+. .l.p+8>5 ,> 5+. l,v,>g 700=,
,- c0>B70>5.2 -q487.l<. M8>< c7,5,c- 0B 5+. B.2.78l g0v.7>=.>5 -8< w. -+04l2
h4-5 g.5 D8c1 50 5+. C0>-5,545,0>. Y.5 w8v,>g 8 p,.c. 0B p8p.7 ,> W8-+,>g50>’-
B8c. w,ll 20 >05+,>g 8- l0>g 8- 5+. =0>.< c7.85,0> =8c+,>. .-58Dl,-+.2 ,>
1913 c0>5,>4.- 50 c+47> 8w8<.

T+. =8,> 7.8-0> 5+. F.2 +8- c0=. 4>2.7 ,>c7.8-.2 -c745,>< ,> 7.c.>5
<.87- w8- 5+. V>8>c,8l c7,-,- 8>2 5+. +04-,>g D4-5 0B 2007 8>2 2008. H82 5+.
F.2 >05 7.p.85.2l< ,>5.7v.>.2 50 p4-+ ,>5.7.-5 785.- 20w>, 5+. =871.5 w04l2
+8v. -50pp.2 5+. +04-,>g D4DDl. ,> ,5- 578c1-. F8c.2 w,5+ 8 v8-5l< ,>c7.8-.2
2.=8>2 B07 =075g8g. l08>-, D8>1- w04l2 +8v. B04>2 5+.,7 -4ppl< 0B l08>8Dl.
B4>2- 78p,2l< 2.pl.5.2. I>5.7.-5 785.- w04l2 +8v. -+05 4p 8- 8 7.-4l5, 8>2 B47-
5+.7 -p.c4l85,0> ,> 7.8l .-585. w04l2 +8v. D..> 877.-5.2 7,g+5 5+.> 8>2 5+.7..
T+.-. +,g+ ,>5.7.-5 785.- w04l2 8l-0 +8v. .>c0478g.2 p.0pl. 50 -8v., 8>2
5+0-. ,>c7.8-.2 -8v,>g- w04l2 +8v. p70v,2.2 5+. g.>4,>. w+.7.w,5+8l B07 8><
B475+.7 +0=. l.>2,>g 50 581. pl8c..

A--.5 D4DDl.-, w+,c+ ,>v0lv. g002- w+0-. p7,c.- 87. 4>-4-58,>8Dl< +,g+
B07 l0>g p.7,02- 0B 5,=., -+04l2 8lw8<- =81. 4- -4-p.c5 =0>.587< =,-=8>-
8g.=.>5. W+.> 2.=8>2 B07 8 p875,c4l87 8--.5 (-4c+ 8- 8 +04-.) 7,-.-, 5+,-
,>c7.8-.2 2.=8>2 p4-+.- ,5- p7,c. 8D0v. 5+. l.v.l ,5 w04l2 05+.7w,-. +8v.
7.8c+.2. Y.5 ,> 8 D4DDl., p.0pl. 1..p D4<,>g 5+. 8--.5 .v.> 5+04g+ ,5- p7,c.
g0.- 0> 7,-,>g,without a contraction in other sectors of the economy. S0 ,B
5+. =0>.< 50 p8< B07 5+,- ,>c7.8-,>gl< .xp.>-,v. 8--.5 ,->’5 c0=,>g B70= l0w-
.7 .xp.>2,547.- 0> 05+.7 g002-, w+.7. ,- ,5 c0=,>g B70=?

T+85 ,- w+.7. 5+. F.2’- =0>.587< -p,g05 c0=.- ,>. W+.> 5+. F.2 j002-



Our Enemy, the Fed22

5+. D8>1- w,5+ =0>.<, 5+. p47c+8-. 0B 8--.5- 0B .v.7-,>c7.8-,>g p7,c. D.-
c0=.- p0--,Dl..28 L001,>g D8c1 0> 5+. 205-c0= D00= 0B 5+. l85. 1990’-, 5+.
Economist c0>cl42.2: “W,5+045 .8-< c7.2,5 5+. -50c1 =871.5 D4DDl. c04l2
>05 +8v. D..> -4-58,>.2 B07 -0 l0>g, >07 w04l2 ,5- D47-5,>g +8v. +82 -4c+
-.7,04- c0>-.q4.>c.-. A>2 4>l.-- c.>578l D8>1.7- l.87> 5+.,7 l.--0>, ,5 w,ll
+8pp.> 8g8,>.”29

S0 w+.7. c8> p.0pl. 547> B07 c0==0> -.>-.? I> 5+. w81. 0B 5+. V>8>-
c,8l c7,-,- 5+85 D.g8> 50 4>B0l2 ,> 2007 8>2 2008, -0=. A=.7,c8>- D.g8>
l001,>g B07 8>-w.7- ,> 4>c0>v.>5,0>8l pl8c.- – -,>c. 8ll 5+. c0>v.>5,0>8l
pl8c.- +82 D..> c0=pl.5.l< Dl,>2-,2.2 D< w+85 0cc477.2. I> p875,c4l87, 8
5782,5,0> 0B 5+04g+5 1>0w> 8- 5+. A4-57,8> Sc+00l 0B .c0>0=,c- +8- .>h0<.2
8> .xpl0-,0> ,> p0p4l87,5< 8>2 ,>5.7.-5 -,>c. 2008. M,ll,0>- 0B p.0pl. +8v.
w85c+.2 8 Y04T4D. v,2.0 c8ll.2 “P.5.7 Sc+,? W8- R,g+5,” w+,c+ c0ll.c5.2
5.l.v,-,0> -.g=.>5- 0B E470 P8c,Vc C8p,58l p7.-,2.>5 8>2 V>8>c,8l c0==.>-
58507 P.5.7 Sc+,? p7.2,c5,>g ,> 2006 .x8c5l< w+85 w04>2 4p +8pp.>,>g 50 5+.
U.S. .c0>0=<, w,5+ 05+.7 c0==.>58507- 2,-=,--,>g 07 .v.> l84g+,>g 85 +,=.
(T+. 07,g,>8l v.7-,0> 0B 5+85 v,2.0 ,- >0 l0>g.7 8v8,l8Dl., D45 v.7-,0>- w,5+
l.--.7 v,.w c04>5- c8> D. B04>2 0> Y04T4D..) Sc+,? ,- 8> A4-57,8> Sc+00l
.c0>0=,-5. A>05+.7 6.5 =,ll,0> p.0pl. w85c+.2 “F.87 5+. B00= 8>2 B4-5,” 8
78p v,2.0 5+85 2.p,c5- J0+> M8<>872 K.<>.- 8>2 A4-57,8> Sc+00l .c0>0=,-5
8>2 N0D.l P7,z. w,>>.7 F. A. H8<.1 .xpl8,>,>g 5+.,7 2,?.7,>g v,.w- 0B w+85
c84-.- .c0>0=,c D00=- 8>2 D4-5-. M< 0w> D001Meltdown (2009), w+,c+
p70v,2.2 8> A4-57,8> 8cc04>5 0B w+85 +82 +8pp.>.2 50 5+. U.S. .c0>0=<,
D.c8=. 5+. New York Times D.-5-.ll.7.

N07=8ll< 5+. 2.D85. 85 8 5,=. l,1. 5+,- w04l2 +8v. 581.> pl8c. D.5w..>
(1) p.0pl. w+0 5+04g+5 g0v.7>=.>5 >..2.2 50 D0770w l05- 0B =0>.< 8>2
-p.>2 ,5 8>2 (2) p.0pl. w+0 5+04g+5 5+. F.2 >..2.2 50 c7.85. 8 l05 0B =0>.<
8>2 -p.>2 ,5. That w04l2 +8v. D..> 5+. p.7=,55.2 78>g. 0B 5+. c0>v.7-85,0>.
A><0>. w+0 204D5.2 5+85 A=.7,c8’- .c0>0=,c p70Dl.=- c04l2 D. -0lv.2 D<
1,c1,>g 5+. c8> 20w> 5+. 7082 w,5+ =07. D0770w,>g, -p.>2,>g, 8>2 =0>.<
c7.85,0> w04l2 +8v. D..> 045 0B l4c1. B45 5+. A4-57,8>-, w+0-. w7,5,>g- 8>2
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-p..c+.- +8v. D..> c7,5,c8l 0B D05+ V-c8l 8>2 =0>.587< -5,=4l4-, 7.B4-. 50
pl8< D< 5+.-. 74l.-. N.,5+.7 B07= 0B -5,=4l4-, ,> 5+. A4-57,8> v,.w, g.5- 50 5+.
+.875 0B w+85’- w70>g w,5+ 5+. .c0>0=<, 8>2 D05+ c8> 0>l< p70l0>g 5+. 8g0-
><. T+. A4-57,8> Sc+00l, 5+. 0l2.-5 c0>5,>404-l< .x,-5,>g -c+00l 0B .c0>0=,c
5+04g+5, 8>2 p70D8Dl< -5,ll 8=0>g 5+. -=8ll.-5, ,-, 8- 8 7.-4l5, >0w 5+. B8-5.-5
g70w,>g.

P84l K74g=8>, 5+. K.<>.-,8> .c0>0=,-5 w+0 +8- p4-+.2 B07 .v.>
g7.85.7 “-5,=4l4-” =.8-47.- 5+8> +8v. D..> 4>2.7581.> -0 B87, +8- D..> B74--
5785.2 D< +0w =8>< p.0pl. 87. “8-1,>g +0w w. g05 ,>50 5+,- =.-- 785+.7 5+8>
5.ll,>g 4- +0w 50 g.5 045 0B ,5.”30 B45 B07 5+. A4-57,8>- – 8>2 8><0>. w,5+ 8><
c0==0> -.>-. – 5+,- +8- 50 D. 5+. c.>578l q4.-5,0>. T+.< 87. 8-1,>g ,5 >05 50
8>>0< P84l K74g=8>, D45 D.c84-. 0>l< ,B 5+. g.>.-,- 0B 5+. c7,-,- ,- 4>2.7-
-5002 c8> w. 1>0w ,B 5+. p70=,-.2 c47.- =,g+5 8c548ll< D. w07-. 5+8> 5+.
2,-.8-..

W+.> 5+. A4-57,8> .c0>0=,-5 F. A. H8<.1 w0> 5+. N0D.l P7,z. ,> .c0-
>0=,c- ,> 1974, ,5 w8- +,- w071 ,> D4-,>.---c<cl. 5+.07< B047 2.c82.- .87l,.7
5+85 w8- D.,>g +0>07.2. A>2 ,5’- 5+85 5+.07< 5+85 +8- D..> 85578c5,>g 5+. =0-5
855.>5,0> B70= 8 c47,04- p4Dl,c 5028<. W+85 ,- ,5 5+85 =81.- 5+. .c0>0=<
=0v. ,> 8 D00=-D4-5 p855.7>, -4c+ 5+85 w.’7. 20,>g g7.85 B07 8 w+,l. 8>2 5+.>
,> 5+. 50,l.5 B07 8 w+,l., 8>2 5+.> g7.85 8g8,>? T+85’- w+85 D4-,>.---c<cl. 5+.-
07< -..1- 50 .xpl8,>.

T0 4>2.7-58>2 5+. A4-57,8> 5+.07<, c0>-,2.7 5w0 -c.>87,0-.

Scenario 1. C0>-,2.7 w+85 +8pp.>- w+.> 5+. p4Dl,c -8v.- =07. =0>.<.
S,>c. D8>1- >0w +8v. =07. B4>2- 50 l.>2 (>8=.l<, 5+.-. -8v.2 B4>2- 2.p0--
,5.2 D< 5+. p4Dl,c), 5+. 785. 0B ,>5.7.-5 5+.< c+87g. 0> l08>- w,ll B8ll. T+.-.
l0w.7 ,>5.7.-5 785.- -5,=4l85. 8> .xp8>-,0> ,> l0>g-5.7= ,>v.-5=.>5 p70h.c5-,
w+,c+ 87. =07. ,>5.7.-5-785. -.>-,5,v. 5+8> -+075-5.7= p70h.c5-. T+8>1- 50
c0=p04>2 ,>5.7.-5, c0>-,2.78Dl< =07. =0>.< ,> ,>5.7.-5 p8<=.>5- ,- p8,2
0v.7 5+. l,B. 0B 8 l0>g-5.7= 5+8> 8 -+075-5.7= p70h.c5, -0 8 20w>w872 =0v.
,> ,>5.7.-5 785.- w,ll =81. l0>g-5.7= p70h.c5- -..= 2,-p70p075,0>85.l< 85578c-
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5,v..

(A D7,.B 2,g7.--,0>: A4-57,8>- -p.81 0B 8 “-574c547. 0B p7024c5,0>.” I>
5+85 -574c547., l0w.7-072.7 -58g.- 0B p7024c5,0> 87. 5+0-. -58g.- cl0-.-5 50
V>,-+.2 c0>-4=.7 g002-: 7.58,l -507.-, -.7v,c.-, 8>2 5+. l,1.. W+0l.-8l. 8>2
=871.5,>g 87. -58g.- 0B +,g+.7 072.7 5+8> 5+.-.. M,>,>g, c0>-574c5,0>, 8>2
7.-.87c+ 8>2 2.v.l0p=.>5 87. 0B -5,ll +,g+.7 072.7, -,>c. 5+.< 87. -0 7.=05.
B70= 5+. V>,-+.2 g002 5+85 7.8c+.- 5+. c0>-4=.7.)

T+. 05+.7 -,2. 0B 5+. c0,> w+.> 5+. p4Dl,c increases its saving ,- 5+85
it is consuming less. W+.> p.0pl.’- c0>-4=p5,0> -p.>2,>g B8ll-, 5+,- ,- w+.>
,5 =81.- =0-5 -.>-. B07 +,g+.7-072.7 -58g.- 0B p7024c5,0> 50 .xp8>2. W+85
w,5+ p.0pl.’- 822,5,0>8l saving, 5+.7. ,- 7.l85,v.l< l.-- 2.=8>2 B07 consumer
goods, 8>2 5+. 7.-4l5,>g c0>578c5,0> 0B l0w.7-072.7 -58g.- 0B p7024c5,0> w,ll
7.l.8-. 7.-047c.- B07 4-. ,> 5+. +,g+.7-072.7 -58g.-.

I> 05+.7 w072-, ,B p.0pl. 87. -8v,>g =07. 8>2 5+4- D4<,>g B.w.7 +85-
07 2.c1- 0B pl8<,>g c872- 7,g+5 >0w, 5+. +85 8>2 pl8<,>g-c872 ,>24-57,.- w,ll
>..2 B.w.7 574c1-, l.-- g8-0l,>., B.w.7 .=pl0<..-, 8>2 -0 0>. T+. g002- 8>2
.=pl0<..- 7.l.8-.2 D< c0>-4=.7-g002- ,>24-57,.- l,1. 5+.-. 87. >0w 8v8,l-
8Dl. 50 =81. p0--,Dl. 5+. c0=pl.5,0> 0B 5+. +,g+-072.7 p70h.c5- 5+85 5+. l0w
,>5.7.-5 785.- +8v. =82. =07. 85578c5,v. 50 .>57.p7.>.47-. T+. c0>578c5,0>
0B 5+. l0w.7-072.7 -58g.- 5+.7.D< =81.- p0--,Dl. 5+. .xp8>-,0> 0B 5+. +,g+-
.7-072.7 -58g.-. A> .=pl0<.. w+0 8>-w.7.2 5+. p+0>.- 85 5+. pl8<,>g-c872
B8c507<, B07 .x8=pl., c8> >0w g.5 8 h0D Vl,>g w071 072.7- B07 8 c0>578c507 8-
c0>-574c5,0> (8 +,g+.7-072.7 -58g.) ,>c7.8-.-.

I> -+075, w+.> ,>5.7.-5 785.- 87. B7.. 50 j4c5485., 5+.< c0072,>85. p70-
24c5,0> 8c70-- 5,=. 8>2 .>-47. 5+85 5+. c0>Vg4785,0> 0B 5+. p7024c5,0>
-574c547. ,- -4-58,>8Dl.. Long-term production is begun only when sufcient
saved resources are available to fund it.

Scenario 2. G0v.7>=.>5-.-58Dl,-+.2 c.>578l D8>1- l,1. 5+. F.2 ,> 5+. U.S.
+8v. v87,04- =.8>- 85 5+.,7 2,-p0-8l 50 B07c. ,>5.7.-5 785.- l0w.7 even with-
out any corresponding increase in saving by the public. (F07 =07. 0> 5+.
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p7.c,-. w8< ,> w+,c+ 5+. F.2 8cc0=pl,-+.- 5+,-, -.. M4778< N. R05+D872’-
The Mystery of Banking, 07 +,- -+075.7What Has Government Done to Our
Money?) J4-5 8- ,> 5+. c8-. ,> w+,c+ p4Dl,c -8v,>g +8- ,>c7.8-.2, 5+. l0w.7
,>5.7.-5 785.- -p47 .xp8>-,0> ,> +,g+-072.7 -58g.- 0B p7024c5,0>.

T+. 2,?.7.>c., 5+04g+, ,- 8 c7,5,c8l 0>., 8>2 ,5 g4878>5..- 5+85 5+.-. ar-
ti3cially l0w ,>5.7.-5 785.- w,ll >05 <,.l2 5+. +8pp< 045c0=. ,> Sc.>87,0 1. I>
5+,- c8-., p.0pl. +8v. >05 2.c7.8-.2 5+.,7 c0>-4=p5,0> -p.>2,>g. IB 8><5+,>g,
5+. l0w ,>5.7.-5 785.- 0> l08>- .>c0478g. B475+.7 c0>-4=p5,0>. IB c0>-4=p-
5,0> -p.>2,>g ,- >05 c0>-57,c5.2, 5+. l0w.7-072.7 -58g.- 0B p7024c5,0> 20 >05
c0>578c5. And if they do not contract, they do not release resources for use in
the higher-order stages o2 production.

C0>-.q4.>5l<, 5+. .c0>0=< ,- ,>82v.75.>5l< 8778>g.2 ,> 8> 4>-4-58,>-
8Dl. c0>Vg4785,0>. T+. p4Dl,c 20.- >05 w8>5 5+,- 785,0 0B +,g+.7-072.7 50
l0w.7-072.7 p7024c5,0>. N05 .>04g+ 7.-047c.- .x,-5 50 B4>2 D05+ 5+. l0w-
.7-072.7 p7024c5,0> 5+. p4Dl,c w8>5- and 5+. w8v. 0B +,g+.7-072.7 p70h.c5-
5+. .c0>0=< +8- D..> =,-l.2 ,>50 ,>,5,85,>g. I>-5.82 0B +87=0>,04- .c0>0=-
,c 2.v.l0p=.>5, 5+.7. w,ll .>-4. 8 54g-0B-w87 D.5w..> 5+. +,g+.7 8>2 l0w.7
-58g.- 0B p7024c5,0>. T+. p7,c.- 0B 5+. 7.-047c.- .=pl0<.2 D< 5+. l0w.7-072.7
-58g.- (l8D07, 574c1,>g -.7v,c.-, .5c.), w+,c+ ,- w+85 5+. p4Dl,c 8c548ll< w8>5-,
w,ll D. D,2 4p 8- 5+. v87,04- V7=- 8>2 ,>24-57,.- ,> 5+0-. -58g.- c0=p.5. B07
5+.=. T+.-. +,g+.7 ,>p45 p7,c.-, ,> 547>, 5+7.85.> 5+. p70V58D,l,5< 0B 5+. +,g+-
.7-072.7 p70h.c5-, w+,c+ w.7. D.g4> w,5+045 5+. .xp.c585,0> 0B 5+,- ,>c7.8-.
,> c0-5-.

W+85 8ll 5+,- =.8>- ,- 5+85 5+. .c0>0=<-w,2. 2,-c0072,>85,0> 5+85 7.-
v.8l- ,5-.lB ,> 5+. D4-5 ,- >05 c84-.2 D< 5+. “B7.. =871.5.” T0 5+. c0>5787<, ,5 ,-
intervention ,>50 5+. B7.. =871.5, ,> 5+. B07= 0B 2,-5075,0>- 0B 5+. -574c547. 0B
,>5.7.-5 785.- — w+,c+ 87. c74c,8l c0072,>85,>g =.c+8>,-=- — 5+85 c84-.- 5+.
p70Dl.=. P7024c5,0> p70h.c5- 5+85 87. ,>5.7.-5-785. -.>-,5,v. 87. g,v.> 875,-
Vc,8l 8>2 4>+.8l5+< -5,=4l85,0> 5+85 .v.>548ll< 7.v.7-.- ,5-.lB ,> l0--.- 8>2
D8>174p5c,.-.
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A- 5+. D00= 547>- ,>50 D4-5, 5+. .c0>0=< 57,.- 50 7.82h4-5 ,5-.lB ,>50 8
c0>Vg4785,0> 5+85 c0>B07=- 50 c0>-4=.7 p7.B.7.>c.-. T+85 ,- w+< ,5 ,- -0 .--
-.>5,8l B07 g0v.7>=.>5 50 -58< .>5,7.l< 045 0B 5+. 82h4-5=.>5 p70c.--, D.c84-.
87D,5787< g0v.7>=.>5 D.+8v,07 c8> 0>l< 2.l8< 5+,- >.c.--87< 8>2 +.8l5+<
p70c.--. W8g.- 8>2 p7,c.- >..2 50 D. B7.. 50 j4c5485., -0 l8D07 8>2 05+.7
7.-047c.- c8> D. -w,B5l< -+,B5.2 8w8< B70= Dl085.2, D4DDl. -.c507- 0B 5+.
.c0>0=< 8>2 ,>50 -4-58,>8Dl. -.c507- 0B 5+. .c0>0=< w+.7. c0>-4=.7- w8>5
5+.=. B8,l045- 0D-574c5 5+,- p70c.-- D< p7.v.>5,>g 5+. 7.8ll0c85,0> 0B c8p,58l
,>50 5+. +8>2- 0B V7=- 5+85 g.>4,>.l< c85.7 50 c0>-4=.7 2.=8>2, 8>2 ,>-5.82
p70pp,>g 4p 5+0-. V7=- 5+85 20 >05. F,-c8l 8>2 =0>.587< -5,=4l4-, B87 B70=
8227.--,>g 5+.-. ,=D8l8>c.-, 0>l< p.7p.5485. 5+.=.

N05. 5+85 5+. p70Dl.= ,- >05 8 2.cl,>. ,> c0>-4=.7 -p.>2,>g. T+85’- 5+.
4-48l 8>8l<-,-: w+<, p.0pl. 87.>’5 -p.>2,>g .>04g+! W. >..2 5+. g0v.7>=.>5
50 -5,=4l85. c0>-4=p5,0>! T0 5+. c0>5787<, 5+.7. ,- ,B 8><5+,>g too much c0>-
-4=.7 -p.>2,>g. I5 ,- 5+,- 7.l85,v.l< +,g+ c0>-4=.7 -p.>2,>g 5+85 ,- p4ll,>g
B8c507- 0B p7024c5,0> D8c1 B70= 5+. +,g+.7 50 5+. l0w.7-072.7 -58g.- 0B p70-
24c5,0> 8>2 =81,>g 5+. .x,-5,>g p855.7> 0B 7.-047c. 2.pl0<=.>5 4>-4-58,>-
8Dl.. S5,=4l85,>g c0>-4=p5,0> 0>l< =81.- 5+. -,5485,0> w07-., D< -q4..z,>g
5+. 8l7.82< c0ll8p-,>g p70V58D,l,5< 0B 5+. +,g+.7-072.7 -58g.- (5+. -58g.-,
7.=.=D.7, 5+85 87. 5+. B875+.-5 B70= V>,-+.2 c0>-4=.7 g002-).

T+.7. ,- >0 ,=p70v,>g 0> L42w,g v0> M,-.-’ =.58p+07 0B 5+. =8-5.7
D4,l2.7. A> .c0>0=< -5,=4l85.2 D< 875,Vc,8ll< l0w ,>5.7.-5 785.- ,- l,1. 8 =8--
5.7 D4,l2.7 .>g8g.2 ,> 5+. 58-1 0B D4,l2,>g 8 +04-. 5+85 +. l8c1- 5+. =85.7,-
8l- 50 c0=pl.5.. IB +. 2,-c0v.7- +,- .7707 7,g+5 8w8< +. c8> l,=,5 5+. 28=8g..
P.7+8p- 0>l< 8 -=8ll p875 0B 5+. +04-. w,ll +8v. 50 D. 1>0c1.2 20w>. P.7+8p-
>0>. 0B ,5 w,ll: ,5 =8< -4fc. 50 8l5.7 +,- Dl4.p7,>5 B07 5+. 7.-5 0B 5+. +04-. ,>
l,g+5 0B 5+. 2.c7.8-.2 -4ppl< 0B D4,l2,>g =85.7,8l- +. >0w 1>0w- 87. 8v8,l8Dl.
50 +,=.

B45 w+85 w. 20 >05 w8>5 50 20, ,> 5+. >8=. 0B +.lp,>g +,=, ,- 50 g.5
+,= 274>1, +0p,>g 5+.7.D< 50 2.c.,v. +,= ,>50 5+,>1,>g +. +8- =07. D4,l2,>g
=85.7,8l- 5+8> +. 7.8ll< 20.-. T+,- -47.l< 20.- not +.lp +,= – >0w +. =8<
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>05 >05,c. 5+. p70Dl.= 4>5,l +. +8- l8,2 +,- v.7< l8-5 D7,c1. T+85 p45- +,= ,>
8 B87 w07-. -,5485,0> 5+8> D.B07.: w,5+ >0 7.-047c.- l.B5 8>2 8> 4>V>,-+.2
+04-. ,> B70>5 0B +,=, p70D8Dl< 5+. w+0l. 5+,>g w,ll +8v. 50 D. 507> 20w>,
8>2 8ll 5+. =85.7,8l- 8>2 l8D07 +047- +. .xp.>2.2 0> 5+. p70h.c5 w,ll +8v.
D..> -q48>2.7.2 B07.v.7.

T+. 875,Vc,8ll< -5,=4l85.2 .c0>0=< ,- l,1. 5+. =8-5.7 D4,l2.7 ,> 5+85 ,5,
500, +8- D.c0=. 500 8=D,5,04- ,> 5+. B8c. 0B 5+. 7.8l l.v.l 0B 7.-047c.- 85 ,5-
2,-p0-8l. H,g+.7-072.7 -58g.- 0B p7024c5,0> 87. D.,>g .>c0478g.2 50 .xp8>2
85 8 5,=. w+.> >0 c077.-p0>2,>g c0>578c5,0> +8- 0cc477.2 ,> 5+. l0w.7-072.7
-58g.-, w+,c+ ,>2..2 =8< 8c548ll< D. .xp8>2,>g. T+,- c8>>05 g0 0> B07.v.7.

T+. -507< 0B 5+. =8-5.7 D4,l2.7 8l-0 7.v.8l- 5+85 5+. 7.8l p70Dl.= 0cc47-
247,>g 5+. D00= p.7,02, >05 5+. D4-5. T+. 875,Vc,8l D00= g,v.- 5+. -4p.7Vc,8l
,=p7.--,0> 0B p70-p.7,5< — w+<, 5+. =8-5.7 D4,l2.7 ,- .=pl0<.2, 8>2 +. ,-
p7024c,>g g002- B07 c0>-4=.7 4-.. B45 ,5 ,- 247,>g 5+. D00= 5+85 7.-047c.-
87. =,-8ll0c85.2 — ,..., w+.> 5+. =8-5.7 D4,l2.7 -q48>2.7- D4,l2,>g =85.7,8l-
0> 8 +04-. +. c8> >.v.7 c0=pl.5.. T+. D4-5 ,- 5+. =0=.>5 w+.> +,- .7707-
c0=. 50 l,g+5, 8>2 +. 7.8l,z.- +. =4-5 =02,B< +,- 8c5,v,5,.-.

L,1.w,-., 5+. .c0>0=< 5+85, 8- 8 w+0l., 8pp.87- 50 D. p70-p.7,>g 247,>g
8 D00= – 8>2 -0=. 0B w+85 0cc47- 247,>g 5+. D00= ,- ,>2..2 5+. g.>.785,0>
0B 7.8l w.8l5+ — ,- ,> B8c5 .>g8g.2 ,> 8 =,-2,7.c5,0> 0B 7.-047c.-. T+. D4-5 07
7.c.--,0>, p8,>B4l 8- ,5 ,-, ,- 5+. >.c.--87< -58g. w+.7.D< 7.-047c.- 87. 7.2.-
pl0<.2 50 l,>.- 0B p7024c5,0> 5+85 -85,-B< 7.8l c0>-4=.7 2.=8>2.

T+. cl8--,c .x8=pl. 0B 57<,>g 50 +.lp D< 5.=p0787,l< +0l2,>g 0? 8 7.-
c.--,0>, 5+.7.D< -.55,>g 5+. -585. B07 8 =4c+ w07-. 7.c.--,0> <.87- 20w> 5+.
7082 – 5+. .q4,v8l.>5 0B g.55,>g 8 5.=p0787< D.>.V5 D< g.55,>g 5+. =8-5.7
D4,l2.7 274>1 – 0cc477.2 ,> 2001.

M0-5 0D-.7v.7- c+..7.2 ,> 5+. =0>5+- B0ll0w,>g 9/11 w+.> ,5 -..=.2
8- ,B Al8> G7..>-p8> +82 -4cc.--B4ll< >8v,g85.2 5+. .c0>0=< 5+704g+ 5+.
205-c0= D4-5 85 5+. c0-5 0B 0>l< 8 7.l85,v.l< =,l2 7.c.--,0>. T+. =8> 5+. New
York Times ,2.>5,V.2 8- “5+. ,>B8ll,Dl. =8.-570 0B 047 V>8>c,8l -<-5.=” +82
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l,v.2 4p 50 .xp.c585,0>-. B45 8ll G7..>-p8>’- ,>5.7v.>5,0>- 2,2 w8- 50 +0l2 0B
5+. ,>.v,58Dl. 7.c.--,0>, 8>2 =81. 5+. 20w>547> 0B 2007 8>2 D.<0>2 8ll 5+.
w07-.. T+. 7.c.--,0> 0B 2001 w8- 5+. 0>l< 0>. 0> 7.c072 ,> w+,c+ +04-,>g
-5875- 2,2 >05 2.cl,>.. F70= 2000 50 2001, +0=. p7,c.- 8c548ll< ,>c7.8-.2
D< 8.8 p.7c.>5. A4-57,8> .c0>0=,-5- 85 5+. 5,=. w0>2.7.2 8D045 5+,-. “W+85
c04l2 .xpl8,> 8 D4ll =871.5 ,> 8 >0>-.87>,>g 8--.5 ,> 8 >0>-,>j85,0>87< .78?”
8-1.2 J8=.- G78>5, .2,507 0B 5+. B8=.2 Grant’s Interest Rate Observer. T+.
8>-w.7, +. D.l,.v.2, ,>v0lv.2 875,Vc,8l c7.2,5 .xp8>-,0> 8>2 875,Vc,8ll< l0w
,>5.7.-5 785.-.31

S0 p.0pl. 27.w 5+. B8l-. c0>cl4-,0> — 8=pl,V.2 D< 5+. 8ll.g.2 .xp.75-,
,>cl42,>g -0=. F.2 .c0>0=,-5- — 5+85 5+. +04-,>g -.c507 ,- 70D4-5 5+704g+
5+,c1 8>2 5+,>, +04-,>g p7,c.- >.v.7 B8ll, 8 +04-. ,- 5+. D.-5 ,>v.-5=.>5 -0=.-
0>. c8> =81., 8>2 -0 0>. B.c84-. G7..>-p8> w04l2 >05 8ll0w 5+. B4ll c077.c-
5,0> 50 581. pl8c., cl.87,>g 045 .>57.p7.>.47,8l .7707- c84-.2 D< +,- p7.v,04-
V22l,>g w,5+ ,>5.7.-5 785.-, =871.5 8c507- p.7-,-5.2 ,> 5+.,7 .7707- B07 <.87-
5+.7.8B5.7. W,5+ 5+. .c0>0=< +8v,>g c0>5,>4.2 8l0>g 5+,- 4>-4-58,>8Dl.
578h.c507< 85 5+85 5,=., 5+. D4-5 5+85 ,>.v,58Dl< c8=. w8- 5+85 =4c+ w07-..
T+,- w8- 5+. cl8--,c c8-. 0B 57<,>g 50 +.lp 5+. =8-5.7 D4,l2.7 D< g.55,>g +,=
274>1. Y.-, ,> 5+. -+075 74> +. 1..p- +4==,>g 8l0>g, w071,>g 0> +,- p70h.c5,
D45 w+.> +. 2,-c0v.7- +,- p70h.c5 +8- D..> 4>-4-58,>8Dl., 8ll 5+. .x578 5,=.
+. -p.>5 0> ,5 D.c84-. +. w8- 500 274>1 50 >05,c. 5+. ,=p.>2,>g p70Dl.= w,ll
+8v. D..> 8 c0=pl.5. w8-5.. A>2 5+. -8=. +0l2- B07 5+. .c0>0=<: +82 5+.
82h4-5=.>5 c0=. ,> 2001, w. w04l2>’5 +8v. +82 8 =4c+ =07. -.v.7. 0>. ,>
2008.

P84l K74g=8>, c0l4=>,-5 B07 5+. New York Times 8>2 w,>>.7 0B 5+.
2008 N0D.l P7,z. ,> .c0>0=,c-, c8ll.2 B07 p7.c,-.l< 5+,- p0l,c< ,> 2001: B07c.
20w> ,>5.7.-5 785.- 50 .>c0478g. l.>2,>g 8>2 50 -5,=4l85. 5+. .c0>0=<, +04--
,>g ,> p875,c4l87. K74g=8> 50l2 8 G.7=8> ,>5.7v,.w.7: “D47,>g p+8-.- 0B
w.81 g70w5+ 5+.7. 87. 8lw8<- 5+0-. w+0 -8< 5+85 l0w.7 ,>5.7.-5 785.- w,ll >05
+.lp. T+.< 0v.7l001 5+. B8c5 5+85 l0w ,>5.7.-5 785.- 8c5 5+704g+ -.v.78l c+8>-
>.l-. F07 ,>-58>c., =07. +04-,>g ,- D4,l5, w+,c+ .xp8>2- 5+. D4,l2,>g -.c507.
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Y04 =4-5 8-1 5+. 0pp0-,5. q4.-5,0>: w+< ,> 5+. w07l2 -+04l2>’5 <04 l0w.7
,>5.7.-5 785.-.”32

H.7. ,- K74g=8> ,> Oc50D.7 2001: “Ec0>0=,c p0l,c< -+04l2 .>c0478g.
05+.7 -p.>2,>g 50 0?-.5 5+. 5.=p0787< -l4=p ,> D4-,>.-- ,>v.-5=.>5. Low
interest rates, which promote spending on housing and other durable goods,
are the main answer.”33 Tw0 =0>5+- l85.7 +. 8g8,> -p01. 0B 5+. D.>.V5- 0B
1..p,>g +04-,>g -570>g D< =.8>- 0B ,>5.7v.>5,0> ,> 5+. .c0>0=<: “T+. g002
>.w- 8D045 5+. U.S. .c0>0=< ,- 5+85 ,5 B.ll ,>50 7.c.--,0>, D45 ,5 2,2>’5 B8ll 0B
8 cl,?. M0-5 0B 5+. c7.2,5 p70D8Dl< g0.- 50 5+. 20gg.2 0p5,=,-= 0B A=.7,-
c8> c0>-4=.7, D45 5+. F.2’- 278=85,c ,>5.7.-5 785. c45- +.lp.2 1..p +04-,>g
-570>g .v.> 8- D4-,>.-- ,>v.-5=.>5 pl4>g.2.”34

B45 5+85 547>.2 045 50 D. p7.c,-.l< 5+. p70Dl.=: D< 1..p,>g +04-,>g
“-570>g” ,>-5.82 0B 8ll0w,>g 5+. .c0>0=< 50 c077.c5 ,5-.lB, 5+. F.2 .>c0478g.2
p.0pl. 50 c0>5,>4. 8l0>g 8> 4>-4-58,>8Dl. p85+, 5+.7.D< =81,>g 5+. .v.>548l
8>2 ,>.v,58Dl. D4-5 8ll 5+. =07. -.v.7. w+.> ,5 V>8ll< 877,v.2. W7,5,>g B07 5+.
New York Times .v,2.>5l< =.8>- >.v.7 +8v,>g 50 8p0l0g,z. B07 D.,>g w70>g
— ,B <04 w.7.>’5 w70>g, <04 w04l2>’5 D. w7,5,>g B07 5+. New York Times ,>
5+. V7-5 pl8c..

Al8> G7..>-p8> 0>c. 2.cl87.2 +,- ,>8D,l,5< 50 2,-c.7> 8>< 1,>2 0B c0=-
=0> p855.7> D.5w..> 5+. v87,04- D00=-D4-5 c<cl.- ,> A=.7,c8> +,-507<.
“T+.7. ,- 8lw8<- -0=.5+,>g 2,?.7.>5,” G7..>-p8> -8,2, “-0=.5+,>g 5+85 20.-
>05 l001 l,1. 8ll 5+. p7.v,04- 0>.-. T+.7. ,- >.v.7 8><5+,>g ,2.>5,c8l 8>2 ,5- ,-
8lw8<- 8 p4zzl.=.>5.” I> B8c5, 5+.7. is -0=.5+,>g ,2.>5,c8l — >8=.l<, 875,V-
c,8l c7.2,5 .xp8>-,0>. I5 ,- .v,2.>5 5+704g+045 8ll 5+. >,>.5..>5+-c.>547< p8>-
,c-, 8>2 w. l,1.w,-. V>2 ,5 ,> 5+. 2.p7.--,0>- 8>2 7.c.--,0>- 0B 5+. 5w.>5,.5+
8>2 5w.>5<-V7-5 c.>547,.-. O5+.7 B.8547.- 0B 5+. c<cl. =8< v87< — 5+.7. =8<
D. 8 -p.c58c4l87 7,-. ,> 5.c+ -50c1- ,> 0>. c8-. 8>2 ,> 7.8l .-585. ,> 8>05+-
.7—D45 5+,- B8c507 ,- c0>-,-5.>5l< p7.-.>5. “H0w =8>< =07. c7,-.- =4-5 w.
.>247.,” w0>2.7.2 .c0>0=,-5 G.07g. R.,-=8> ,> Barron’s, “4>5,l w. 7.8l,z.
5+. c0==0> 2.>0=,>8507 ,- 5+. c7.85,0> 0B =0>.< 8>2 c7.2,5 D< 5+. F.2?
W8ll S57..5 D8>1.7- 8>2 -p.c4l8507-, w+0 57< 50 g8=. 5+. -<-5.= 8>2 =81.
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p70V5- 247,>g .8c+ D00=, 87. =.7. D,5 pl8<.7- ,> 5+.-. c7,-.-. B< B0-5.7,>g
5+. D00=- 8>2 57,gg.7,>g 5+. D4-5-, 5+. 7.8l v,ll8,> ,- 5+. ,>-5,545,0> 0B c.>578l
D8>1,>g ,5-.lB.”35

T+. A4-57,8> 5+.07< 0B 5+. D4-,>.-- c<cl. -570>gl< ,=pl,.- w+85 -+04l2
D. 20>. 0>c. 5+. D4-5 +,5-. C.758,>l< 8ll ,>j85,0> 0B 5+. =0>.< -4ppl< =4-5
c0=. 50 8> .>2. I5 w8- 5+,- p0l,c<, w+,c+ D7,>g- 875,Vc,8ll< l0w.7 ,>5.7.-5 785.-
,> ,5- 578,>, 5+85 c84-.2 5+. =,-2,7.c5,0> 0B 7.-047c.- ,>50 4>-4-58,>8Dl. l,>.-
,> 5+. V7-5 pl8c.. F475+.7 =,-2,7.c5,0>, .v.> ,B w. 2,g>,B< ,5 w,5+ 5+. w072
“-5,=4l4-,” c8>>05 7.p8,7 5+. D701.> .c0>0=<.

P7,c.- 8>2 w8g.- >..2 50 D. B7.. 50 j4c5485. ,> 8cc0728>c. w,5+ c+8>g-
,>g c0>2,5,0>-. T+. p7,c. -<-5.= ,- 5+. 045c0=. 0B 57,ll,0>- 0B D4<,>g 8>2
-.ll,>g 2.c,-,0>- D< D4-,>.-- 8>2 5+. p4Dl,c. E>57.p7.>.47- w+0 87. 57<,>g 50
Vg47. 045 +0w 50 c0=D,>. B8c507- 0B p7024c5,0> ,> -4c+ 8 w8< 8- 50 p7024c.
5+. g002- c0>-4=.7- w8>5 85 5+. l0w.-5 p0--,Dl. c0-5 50 -0c,.5< =4-5 7.B.7 50
,5. A>< ,>5.7B.7.>c. w,5+ p7,c.- 8>2 w8g.- 247,>g 5+. c7,5,c8l 5,=. ,> w+,c+
D4-5 .v0lv.- ,>50 7.c0v.7< w,ll -4Dv.75 8>2 5+4- 2.l8< 5+. .c0>0=<’- 82h4-5-
=.>5 p70c.--. O>l< 8> 4>+8=p.7.2 -<-5.= 0B p7,c.- 8>2 w8g.- c8> .>-47.
5+85 5+. =,-8ll0c85.2 7.-047c.- (,>cl42,>g l8D07) 0B 5+. D00= 87. 7.2,7.c5.2
50 -.c507- 0B 5+. .c0>0=< w+.7. 5+.< c0>B07= 50, 785+.7 5+8> -58>2 ,> ,>82-
v.75.>5 2.V8>c. 0B, c0>-4=.7 2.=8>2.

D47,>g 8 D00=, l8D07 8>2 p+<-,c8l 7.-047c.- 87. 85578c5.2 50 -.c507-
w+.7., ,5 w,ll l85.7 D. 2,-c0v.7.2, 5+.< 2,2 >05 D.l0>g. D47,>g 5+. +04-,>g
D00= -0=. 40 p.7c.>5 0B 8ll >.w h0D- w.7. ,> 5+. +04-,>g -.c507.36 T+85
c04l2 >05 c0>5,>4..

F8,l,>g V7=- >..2 50 D. 8ll0w.2 50 g0 D8>174p5. T+. 7.c.--,0> p.7,02 ,-
w+.> 8 -4-58,>8Dl. p855.7> 0B c0>-4=p5,0> 8>2 p7024c5,0> ,- 7..-58Dl,-+.2,
8>2 5+,- p855.7> w,ll >05 p.7=,5 8ll V7=- 50 c0>5,>4. 8- D.B07.. B8>174p5c<
p70c..2,>g- p.7=,5 >.w 0w>.7- 50 581. 0v.7 5+. 8--.5- 0B B8,l,>g V7=-, 8>2
.,5+.7 c0>24c5 5+0-. V7=- 8cc072,>g 50 8 2,?.7.>5 D4-,>.-- =02.l, 547> 5+.
8--.5- (,B p0--,Dl.) 50w872 5+. p7024c5,0> 0B 2,?.7.>5 g002-, 07 -,=pl< -.ll 0?
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5+. 8--.5- 8>2 c0=p.>-85. 8- =8>< 0B 5+. c7.2,507- 8- c8> D. 8cc0==0285.2.

T+. g0v.7>=.>5’- p7.285,0> 0> 5+. .c0>0=<, ,> 5+. B07= 0B -p.>2,>g
8>2 58x85,0>, -+04l2 D. 7.24c.2. R.-047c.- 87. 5+.7.D< 7.l.8-.2 5+85 .>57.-
p7.>.47- c8> 4-. 50 7.8l,g> 5+. c8p,58l -574c547. ,> l,g+5 0B 5+. c+8>g.2 c0>2,-
5,0>- 5+. D4-5 D704g+5 50 l,g+5.

T+,- -5785.g< w8- B0ll0w.2 ,> 5+. 2.p7.--,0> 0B 1920-21, w+,c+ -8w
4>.=pl0<=.>5 -+005 4p 50 12.4 p.7c.>5 8>2 p7024c5,0> 2.cl,>. D< 17 p.7-
c.>5. W+0l.-8l. p7,c.- B.ll D< 56 p.7c.>5. T+. p0l,5,c8l cl8-- 5028< w04l2 D.
-c7.8=,>g B07 8ll =8>>.7 0B “-5,=4l4-” 50 7.v.7-. 5+,- 2.85+ -p,78l. B45 5+.
B.2.78l g0v.7>=.>5 85 5+. 5,=. c45 ,5- D42g.5 ,> +8lB B70= 1920 50 1922 8>2
c45 5+. >85,0>8l 2.D5 D< 0>. 5+,72 0v.7 5+. c047-. 0B 5+. 1920-. (I>c0=. 58x
785.- w.7. l0w.7.2 B07 8ll ,>c0=. g704p- 5+704g+045 5+. 2.c82., ,5’- 574., D45
5+.-. l0w.7 58x.- 5001 .?.c5 8B5.7 5+. 7.c0v.7< w8- 8l7.82< ,> p70g7.--.) T+.
F.2.78l R.-.7v., B07 ,5- p875, 2,2 >05 .>g8g. ,> 0p.>-=871.5 0p.785,0>- (,>
w+,c+ 5+. F.2 p47c+8-.- 8--.5- w,5+ =0>.< ,5 c7.85.- ,> 072.7 50 ,>c7.8-. 5+.
8=04>5 0B =0>.< ,> c,7c4l85,0>) 50 ,>c7.8-. 5+. =0>.< -4ppl<.37 T+. .c0>0-
=< w8- 5+.7.B07. 8ll0w.2 50 82h4-5 w,5+045 5+. -0-c8ll.2 c04>5.7c<cl,c8l g0v-
.7>=.>5 p0l,c,.- 5+85 w. 87. 50l2 87. .--.>5,8l. S,g>- 0B 7.c0v.7< w.7. .v,2.>5
D< 5+. l85. -4==.7 0B 1921, w+,c+ ,- w+.> 5+. N85,0>8l B47.84 0B Ec0>0=,c
R.-.87c+ -8<- 5+. 2.p7.--,0> .>2.2.38 J0-.p+ Sc+4=p.5.7, 0>. 0B 5+. .=,-
>.>5 .c0>0=,-5- 0B 5+. 5w.>5,.5+ c.>547<, c0>5.>2.2 5+85 5+. 1920-21 c8-.
“-+0w- D.55.7 5+8> 8>< 5+.07< c04l2 +0w 5+. -<-5.= p4ll- ,5-.lB 045 0B 5704g+-
4>2.7 ,5- 0w> -5.8=.”39

S,>c. 2007, 5+. =871.5 +8- D..> 57<,>g 50 =0v. c0>-4=.7- 8w8< B70=
p.7-0>8l V>8>c. =02.l- D8-.2 0> ,>2.D5.2>.-- 8>2 c0>-4=p5,0>, 8>2 50-
w872 =07. -8v,>g 8>2 8 -4-58,>8Dl. l.v.l 0B c0>-4=p5,0>. T0 8cc0==0285.
5+,- -+,B5, l8D07 8>2 c8p,58l w,ll >..2 50 D. 7.8ll0c85.2 045 0B -0=. -.c507- 8>2
,>50 05+.7 0>.-. A- w.’v. -..>, “-5,=4l4-” -p.>2,>g 0>l< 2,-74p5- 8>2 c0>-
B4-.- 5+,- p47g85,v. p70c.--, D< =,-2,7.c5,>g 7.-047c.- ,>50 87D,5787< p70h.c5-
8>2 875,Vc,8ll< -5,=4l85,>g p0l,5,c8ll< B8v07.2 ,>24-57,.- 85 5+. .xp.>-. 0B 5+.
.c0>0=<’- +.8l5+< 8>2 p7024c5,v. -.c507. B878c1 OD8=8’- p70g78= B07 7.c0v-
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.7<, -4c+ 8- ,5 w8-, l001.2 ,>-5.82 50 7.,>j85. 5+. D4DDl., 1..p 5+. -p.>2,>g
-p7.. g0,>g, 8>2 g,v. -5,ll =07. 875,Vc,8l -5,=4l4- 50 2.D5 w+,l. ,>57024c,>g 07
.x8c.7D85,>g 2,-,>c.>5,v.- 50 -8v., 785+.7 5+8> 8ll0w 5+. =871.5 50 c077.c5 5+.
4>-4-58,>8Dl. .xc.-- ,> 5+. .c0>0=<.

“N0 -c+.=. w+,c+ +8- .v.7 D..> 2.v,-.2…+8- .v.7 =82. 8 c0ll8p-.2
D00= g0 4p 8g8,>,” -8,2 W,ll,8= G78+8= S4=>.7 ,> 1896.40 N05+,>g ,> 5+.
+,-507,c8l 7.c072 -,>c. 5+.> +8- 8l5.7.2 5+85 v.72,c5.
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